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sS4 (27,091) 159 57.7 00 263
Lk (81,726) 20.8 519 00 273
ZHE (10,847) 156 511 04 329
=01 2lod gl ofe (225) 324 487 00 189
HE (85,264) 21 463 01 315
LOf 5 A (5,872) 389 540 00 71
=} oA} HENEA| D1 HEAHAD] (9,516) 50.1 394 00 10.5
- 28 9l 5o (757) 24.6 634 00 119
He= D JpH gl 7 AHPR (23,110) 470 35.7 00 173
ANSARIRE| Ol ARKII AHAS (12,550) 319 516 10 156
S AHPAS (73,738) 475 36.2 6.4 99
Os AlX 51 OP i AHIAY! (3,456) 57.2 349 44 35
oo 3 TR 2| R 7EHRIAHNG | (56,887) 118 63.3 00 249
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H3Y =AM ZEL

[E 3-8] [NEO|E 0|4 CHEX} &
(BH91 - 74, %
5 | A | 4 | OBAR | OAS

g M4 e A 7|

TE BT Ag | Ag | oAl | A | A IEt

HH (271,375) 317 10.5 9.5 24.2 223 18

CHEX} =M (205,088) 420 112 105 19.1 15.8 15

Hd (0: 5] (66,287) 73 88 73 36.2 377 26

NE (59,703) 29.0 131 136 245 175 24

23 OIX/A7| (66,556) 311 105 89 26.2 214 20

A (126,259) 30.0 118 113 253 194 2.2

Ao =X 25452) | 398 71 66 235 214 17

S (27,091) 29.0 45 6.0 222 35.2 31

At (81,726) 343 113 9.0 219 227 09

Z/HIE=A (10,847) 227 10.2 6.8 34.0 25.7 0.6

= Qo 5l ofd (225) 25.6 24.2 20.3 120 43 13.6

A (85,264) 478 121 10.2 17.7 9.8 24

CE0f 3 Ap (5,872) 248 10.2 20.2 319 113 16

=0} AL HESEA] Ol MEAHAA (9,516) 40.5 89 9.2 25.0 135 29

P =8 3 5 (757) 237 0.6 347 257 56 97

Ho= M2 gl 7 MHY (23,110) 438 14.6 12.7 149 125 14

AZAPERR| B ARIKIR] AH A (12,550) 231 51 20.7 36.0 10.7 43

= M (73,738) 10.7 101 7.7 321 380 13

Os AX Sl 072124 AN (3,456) 147 6.9 103 347 334 0.0

o5| B | 42| B 7 EF KRl A A (56,887) 813 7.6 33 35 29 13

3. 4 F £ 5
o NEAY UWF 2SS AFuEY, UmA 108 2 3-47(35.8%) 2009
©1-3009+ ©|wko] W, 21(20.4%)2 3009HA~400uFY Hwk 21 A %(19.3%) =
1009H9~2005FY mTk, 129 AS(15.7%)= 4009+ o)Ak 19 A %(8.9%)=
100990 vlwre] o eh, EA 109 5 679 AEE AW £50)
3009+ mEkel Ao 2 2AE
o YW UxEA €

o A58 AnRd, 2% 94, 4554 2 JRA6
A5 1005-¢~200%H W] REe] HlFo] 26.2%% I3, W&
MUl 29 thEA 98 F A5 #FS 2009H4~3009+ B vH47.3%)0] Hom,
d3] g A, 2 2 7ER A Mula] diEAE 9% 3009 ~4007H
H k] vl Fo] 26.3%, T, 99 ¥ oY HEAS ¥R A5 TS 4007
4 o] 430.0%)°] =& Ao YEhd
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20183 12 H27|Y AERAF

(B %)
[# 3-9] CiEx} EEd &5
(521 7, %)
) ™ Bl

7z A | g | oRE | Ry | oo | AU O
A (271,375) 8.9 193 35.8 204 15.7
CHEX} ] (205,088) 74 181 348 21 176
4 g old (66,287) 134 229 386 153 9.8
NS (59,703) 6.9 183 375 24 149
] oI/ 747 | (66,556) 94 153 342 204 207
A (126,259) 82 167 35.8 214 179
Aol =X (25452) 89 207 336 197 171
Sy (27,091) 73 139 423 230 135
Aty (81,726) 101 231 355 184 129
2 (10,847) 110 306 259 194 130
=01 0lof gl 0fo] (225) 5.5 130 279 237 30.0
R (85,264) 115 206 272 193 214
=P el (5,872) 838 204 379 164 164
=T} QAL HISEA| O RHAD] (9,516) 116 26.2 319 147 156
ST o8 A Heldd (757) 38 147 336 222 256
b M2 gl 7| AHA (23,110) 10.8 199 379 174 139
NS PTIR] 1 ARRIKIS) AHAS (12,550) 97 239 338 166 160
1S AHP (73,738) 50 137 473 196 143
Ofs ATLX Ol Op Rt AHAY (3,456) 56 258 311 245 131
5| 0l Chy 42| 9 7EF IR MERY | (56,887) 8.8 216 339 263 95




H3Y =AM ZEL

o EAY HY A FoAPRL APRW, Z247d 2TV} 66.2%2 7 w29k
GA EF(15.4%), 71 ZF4.2%), FFG5%) T 2

2 Yehd
(2l %)

66.2

15.4

20 26 12 14 3 g5 23 g5

FLY OPIY FEAR NN DM wswn oy I 2N 28 T
22 2; 2F =% 284 (HY ZH) (3 S

[2% 3-8] &AL F4 A F84¢

o

ASEE duxe] A A Fo48S Ayud, A9 A FL7190 2
dEol A= dEAL HF2 g3 B wA, gy o H]
BLO%)NA 7+ =A YEhe

oz AMgAl &9 AdEel e iR HETS v, ¥49 2 o4
(30.6%)01 4, t7ldel =73 Aol = EAe vl =3, 9 &

A H)r
EA 2D ARAH2G00.2%)00 A =& Aoz Jehd
FRaY Ao H2L o& Axx 2 oy} FE MuaYgoe] 10.3% =2 7}
=2

2018 191 27| AEf=RAF | 57



201813 191 22| AIEfZAL -|.

[& 3-10] CHEXIS HY M FoAH 1

k2 : 7, %
ZEAT7|AH H .T'_T'_ inl oz | OlH}S
28 s | 3528 | KRS M mey | SRR
XA (271,375) | 66.2 42 20 154 26 12
CHEX} L (205,088) | 706 47 19 159 16 11
4 4 o (66,287) 52.7 27 21 141 58 14
M (59,703) | 674 6.5 14 134 41 24
23 olxy/Z7| (66,556) | 63.0 38 28 16.7 26 12
A7 (126,259) | 651 51 2.2 15.1 33 18
o =X (25452) | 643 2.1 25 143 41 06
SL (27,091) | 691 19 17 139 21 00
QlLk (81,726) | 689 47 13 15.7 08 08
bICT) o B (10,847) | 574 01 40 237 6.0 23
=01 2lof gl ofe (225 | 339 11 34 306 00 00
H2t (85264) |  69.0 40 08 148 11 10
LOf 5 A (5872) | 502 59 07 230 0.2 78
2T} QA HESEA| O AEAHASS (9516) | 563 10.2 38 184 08 26
- 28 gl 5 (757) | 610 73 2.1 19.7 10 00
Ho= 2 Sk Gl 7 AHA (23110) | 619 42 6.4 164 06 44
ANSAPIaE| I ARIKIQ) AHAS (12,550) | 60.1 6.3 35 16,5 11 05
S AHPAO (73738) | 575 44 24 16.7 75 08
Os ARX 51 OP [ AHIAY! (3456) | 508 32 46 154 77 17
&15] 9l ChY| 22| 2 JEF 70l AHRY! | (56,887) | 810 25 07 12.8 00 00
[E 3-11] CHEXIS HH M Fa7™ 2
(Tl < 7 %)
=y kl‘Eﬂ A SHH =H -?-El '?'El 7| EI'
= T e T Gl =) | B =H)
XA (271,375) 14 35 0.6 23 0.5
CHEX} L (205,088) 07 00 07 23 05
4 4 oA (66,287) 37 144 0.5 21 06
M (59,703) 08 23 05 11 00
B | OIR/ 77| (66,556) 15 29 06 45 04
A (126,259) 12 26 06 29 0.2
Mo =X (25,452) 18 37 10 27 27
sS4 (27,091) 2.1 35 18 29 12
QlLk (81,726) 16 48 01 11 02
ZHE (10,847) 03 38 09 12 04
=01 2lof gl ofe (225) 38 59 11 44 15.8
HE (85,264) 11 54 06 13 08
S0 9! A0 (5,872) 12 64 19 21 08
25} QIAF HESEA| Ol REAHIAO (9,516) 14 40 04 21 01
- 28 4l 5 (757) 31 5.8 00 00 00
He= D Jsh gl 7 AHPR (23,110) 08 2.1 0.2 2.8 00
ANSUPIRE| 9l ARKIQI AHAS (12,550) 07 6.7 07 2.2 15
S AHPY (73,738) 31 2.1 07 46 0.2
Oy ATk Ol o2 AHIAY (3,456) 21 106 08 31 00
oio| S E| 2| L TEFZHRIAHAY | (56,887) 00 14 0.5 05 06
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H3Y =AM ZEL

5. EAS] A dFH Y 44

o

o WEAY A A 4FF @ YF ARYS AVRY, A% 9
Fo] 79.2%( % ABol Utk 46.8% + AWo| 3
AA HIF 17.8%CHS Aol itk 95% + Akol
AYA 102 F 8F A=E BAY dFol A AEW AwE 0T 2AHY

o

(Bt - %)
m HY Hq;o| gict Hao| gict HZo|0 ool 9ITt m BjQ o] 9it
3.0
325
8.3
[R3 79.2%]
[F= 17.8%]
(2% 3—-9] ALY AR 53 dg 34
[E 3-12] CHEX}C| M AEnt oY Azt
(SH2l - 7H, %)
ol 4 ot 5
78 A4 T4 ap | ms ar o
i oict ot olict
gict = Qlct >
A (248723) | 178 95 83 30 79.2 468 325
CHEX} Lh (196,490) | 173 90 83 29 79.8 46.0 337
g4 4 oy (52.233) | 196 116 8.0 32 77.2 495 277
NS (56,897) | 17.3 82 91 36 79.1 452 339
B oIx/Z7| (59,976) | 188 104 83 38 715 52.2 253
29 (116,873) | 181 94 87 37 78.2 488 295
ol =549 (22415 | 199 110 838 29 77.2 430 342
St (23,997) | 157 82 75 24 819 611 20.8
o (75298) | 17.0 92 78 23 80.7 401 406
PICTs e (10,140) | 20.2 135 6.7 12 786 474 313
=91 Qlof 0l of2d (155) | 267 115 15.2 6.0 67.4 26.0 414
HE (77,384) | 199 120 7.8 35 76.7 432 335
0K 50 Ape (5151) | 376 24.8 12.8 5.1 57.3 17.8 396
2} AP HESEA| Ol HEAH A (8,756) | 19.6 99 97 18 786 32.8 458
R 28 ol £ (690) | 484 29.8 186 96 42.0 29.1 129
Ho= 2 1H gl 7 AHPR (1721) | 148 6.2 86 19 833 39.0 444
ANSURIRE| Ol ARKIQI AHIAS (11,056) | 451 25.0 201 35 514 22.6 288
i (65,804) | 143 73 7.0 30 82.7 585 24.2
Oy ATk Ol O figd AHAY (2,882) | 388 15.8 230 838 52.4 21 303
)

5] 0l Th 2] 2 7EFHo MHpe | 55122 | 110 | 47 6.2 23 | 867 | 522 345
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2018 191 H=27|Y HEHRAF
6. old BB 2% 3
o WEAY ofH A4 TR AT AvWuw, YA H] 5% N Bo
o, Oeoz AT - 71<2(25.8%), 4D - Ae2(19.4%), HF216.7%), I
B 2(8.3%)0]) 0.2 ek
(CFQ| - %)

(Sl - 7 %)
+& Ml | ZEEER | GRVER | REAE | MWK | SHREX) 7Et
A (241618) | 194 258 83 16.7 275 24
CHEX} Lk (193212) | 191 294 95 19.2 20.8 19
4 & ojd (48406) | 206 112 34 6.5 54.0 42
M (54466) | 205 244 100 12.6 311 15
2~ olx/Z7| (58218) | 196 314 94 153 233 11
27 (112,684) | 200 280 97 14.0 270 13
Aol =147 (21361) | 188 288 98 176 21 29
SL (23430) | 158 228 73 148 351 42
QiLky (74,656) | 184 229 64 219 27.8 26
P s E (9488) | 292 229 55 105 236 8.2
=0 0l 51 oY 155) | 413 122 5.8 96 294 17
HES (76/432) | 166 27 12.1 35.2 13.0 04
COf gl Anft (5139) | 329 10.8 207 24 327 06
25T} QA HESEA| O AEAHASS (8681) | 303 230 135 06 299 27
v 28 Ol el 682) | 315 17 88 43 519 17
Ho= 2 Sk gl 7 AHA (21,582) | 233 346 78 18 281 44
ANSAPdaE| Ol ARIKIQ) AHIAS (10913) | 250 63 15.7 87 418 26
S AHPAO (60293) | 251 83 11 09 586 6.0
Oy Amx gl 047 221 AH |_°+ (2618) | 196 117 55 29 56.1 42
(55122) | 110 524 77 20.5 80 04




|- H3Y =AM ZEL

o tEAL] HY A AAo|A ZHF 7S AH R, 2 o]l A7}t 96.9%=
7 2o dbd) 2d m el A+ 3.1%(0d9~19 671 e =g 2.1%)0 E33H
(%)
96.9 =
B2 2371351078114
2.1
3.4
‘ ! 05
2 oy 2dor 0.4
Y G- 1E-1EE7 19672
ojgt ojgt ojgt ojgt
[2¥ 3-11] HEA] A A AR 25 7|3
[E 3-14] CHEXIC] #Y H HY 27 7|7t
(SRl = 71, %)
ofd | ofe- | 1o | ep | 23 ] o
b MHT | opr | wtopr | ojer | e | opy | BEORD
HA| (241618) | 01 05 21 04 96.9 135.10
=t LA (193212 | o1 07 18 05 97.0 139.78
Nqd oM (48406) | 04 00 32 00 9%.3 11641
NS (54466) | 00 04 17 02 97.7 137.22
| QIM/Z7| (58218) | 00 04 14 05 97.7 146.53
A (112,684) | 00 04 15 04 97.7 142,03
Aot =53 1361 | 00 07 22 01 970 140.52
Sty (23430) | 00 07 24 07 9.2 133.06
ot (74656) | 04 07 28 04 95.7 125.16
PICT ET (9488) | 02 02 15 01 98.0 123.80
=01 olof gl ojet 155 | 00 22 11 15 95.2 162.19
R (76432) | 00 06 14 03 97.7 153.50
Z0j 9 AHed (5139) | 00 01 19 01 97.8 12618
T} QA HESEA] 01 KEAHAD] 8681 | 00 01 18 05 976 12293
otz 28 9l o] 682 | 04 00 35 00 9.2 183.67
=SS 2 2Ol 7k AHRY 1582 | 04 11 12 00 973 130.08
ARIAPRIE| B AR AMHAS (10913) | 00 00 15 00 985 155.26
WS AHY! 60293) | 03 02 39 09 94.7 108.24
Ol AZX Ol Op Rt AP 2618) | 04 00 47 11 938 12873
S| 91 Ch| 22| 9 JEF7pRI AHAY | (55122) | 0.0 08 13 02 976 139.32
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N
=
(00)
[
OM
i
18
>
ful
N
B

o tEae] Y dEe AEY, 4¥ e xRS HFo] 788%= 7HE
O i L 212%% FAEAY 13 A=Y

[23 3-12] di=Ake B4 A
34

[# 3-15] CHEXIe| &Y

k| 7, %
T Abefl 28 A3 28 glS e ¥ s
A (271,375) 21.2 78.8 141
=X} LH (205,088) 219 781 142
4 4 o (66,287) 193 80.7 1.34
NS (59,703) 19.0 810 1.32
A OIX/ 7| (66,556) 259 741 1.52
A (126,259) 27 773 144
ol =143 (25,452) 19.5 80.5 1.28
sS4 (27,091) 176 824 1.25
Lty (81,726) 19.7 80.3 1.35
PACTys s (10,847) 289 711 1.84
=01 QIof gl of2 (225) 374 62.6 141
M (85,264) 219 781 1.33
COf 51 AT (5,872) 269 731 1.51
21} QAL HESEA| 01 KeAH A (9,516) 283 717 116
- 28 ol =50 (757) 240 760 1.65
He= M 15t 7 AHAY (23,110) 202 79.8 1.40
ANCARIRiE| Sl ARIKIQ) AHIAS (12,550) 243 75.7 1.46
S AHA (73,738) 21 77.9 1.56
Os A Ol P 2l AHIAY (3,456) 213 787 1.33
ol 3 K| 2| SLTEHIRNAHIANY | (56,887) 168 832 134




!
=

|_ H3Y =AMEY

0. BA YA 4EH A 45 $Y A%

o A A AYA YT W 4F) FU v Astud, Il 2y
= AFAZE 70.9%= 7}

&5
|o
)
Y
X,
%
rr
i}
==
Y
o
5

0
B
—
N

(91 2 %)

(2% 3-13] 34 AldAl 453 8 939 59U ¥

[# 3-16] 0tA AN HEa o P39 5 of

(Bl 70 %)

= L 2Lt Zx| ot
A (57,617) 70.9 29.1
CHEX} A (44,813) 69.5 305
4 4 oj (12,804) 757 243
M (11,369) 674 326
| 1M/ (17.258) 714 286
27 (28,627) 69.8 30.2
Had =N (4,961) 713 287
sS4y 4,770) 788 212
et (16,128) 723 27.7
PICT e (3,131) 60.9 391
=04 olof gl of2t (84) 64.7 353
HE (18,714) 65.5 345
0Of 9 Ape (1,582) 4838 51.2
20} QAL HESEA| O KHAHADS (2,694) 716 284
R 28 U 5 (182) 34.2 65.8
Ho= ME 15t l 7k AHA (4,678) 69.3 307
AJRIAPSRI| O ARRIKIR) AHAO] (3,049) 429 57.1
S AHP (16,319) 810 19.0
Os AT Gl Op [ AHAY (737) 504 496
&45| Bl Chy| 22| 4 7EF 7ol MHAS (9,579) 79.7 203
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71 AlEfZAL
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2018 1

< or K| o X 94
.n.v.: -~ m ﬂ E%E .Iv_Al
mﬂq i = W = L._hw i 5 S =
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3 T E oMW Ma
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sxEREr R I - R
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= AL J%x 2t HEo|C} J3ct " ™)
A (271,375) 309 338 354 398
L (205,088) 318 348 333 392
oA (66,287) 279 304 417 416
NS (59,703) 3438 458 194 373
N oIk 27| (66,556) 409 353 238 364
A (126,259) 380 403 217 368
=X (25,452) 376 395 229 368
sS4 (27,091) 167 126 706 483
LA (81,726) 28 294 477 422
ZURI= (10,847) 278 295 427 416
501 0104 81 0fo] (225) 274 218 50.8 430
A (85,264) 373 309 317 3.80
O 5 AT (5872) 269 448 284 3.95
=0} GA} HESEA| T EAH A (9,516) 305 412 283 391
o1 28 9l i (757) 258 22 520 432
== HE 76Ol 7 AHA (23,110) 324 376 300 388
NS STIR| Bl ARIKIS] AMHIAD! (12,550) 313 360 327 385
1S AHAY] (73.739) 285 267 448 424
O ATk QI o[ AR (3,456) 289 376 335 4.02
5] 0l Th 22| 2 770l MRS | (56,887) 241 427 332 3.99

[# 3-18] ¥ SAlet 2|2 SUHE AA B 60| FotHCt

(Bl 70 %)

= Al | "X gt gso|ct i )
A (271,375) 351 373 277 379
Lk (205,088) 36.0 376 263 375
ol (66,287) 320 36.2 318 3.90
Me (59,703) 355 450 195 370
2~z oIXy/A7| (66,556) 407 383 210 3.55
A (126,259) 383 414 203 3.62
=x3 (25,452) 436 377 187 353
sS4 (27,091) 277 189 534 420
oty (81,726) 303 369 328 3.96
2UHEA (10,847) 319 36,5 316 397
=01 olof bl o (225) 253 193 554 442
H= (85,264) 423 316 26.1 3.65
Z0j 31 A0 (5,872) 333 461 206 375
2} oA} HESEA| O AEAHAY (9,516) 282 440 279 3.95
—_— 28 gl e (757) 572 331 97 319
Ho= 2 18Hal 7k AHPAY (23,110) 321 430 249 3.82
AN PRIR| Gl ARIKIS] AH A (12,550) 343 393 264 3.68
S AHAY (73739) 311 332 35.7 4,00
O AZX Ol OP 2R A (3/456) 356 316 328 391
oio| I EH| 22| L 7EHHRL AR | (56,887) 318 468 214 3.70
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20183 12 H27|Y AERAF

[# 3-19] 8Y TAle} 2|2 BUHE UM _F?

S| i SIS S0

SR Y B 0P IS xiF EEC
(EH21 2 71 %)

t

1

= AL JEX| pct HEo|ct a3} H2®)

A (271,375) 381 419 19.9 3.64
=X} ] (205,088) 396 408 196 3.60
4 4 oy (66,287) 336 454 209 3.75
NS (59,703) 404 462 134 3.53
B OIF/Z7| (66,556) 455 401 144 3.36
29 (126,259) 431 430 139 344
Hoi =X (25,452) 440 433 12.7 3.45
SL (27,091) 159 328 513 441
oty (81,726) 363 429 209 373
PICTs B (10,847) 36.7 417 216 3.76
=2 2 8l of (225) 230 389 381 424
M= (85,264) 498 341 16.1 3.38
Oj 5! Ao (5,872) 395 458 14.7 3.48
2} GAF HESEA| Ol HEAH A (9,516) 290 498 212 3.77
R =28 9 = (757) 325 261 414 4.07
Ho= M2 1ol 7k AHPA (23,110) 340 46,0 199 371
AR O ARIKIQ] AHIA (12,550) 36.8 453 17.9 3.57
S AHA (73,738) 301 417 281 3.92
Os A Gl P 2l AHAY (3,456) 400 428 173 3.64
ol BN 2| SLTEHIRNAHIAN | (56,887) 346 499 15.6 3.62

11. 24 37l

o fiEAe] A F7]ol sl AHEA, U FAHHY T8-S &3] HsA
Fsl HAnke el 1892 =2
(CH - %)
129 s1+229
o688
58.9
s2.9
43.3
24.3
15.8
0.3 .8 0.7
Lo Byat o52  foice o] oy W REE 7|5t
wjop?] el P2 U0 [ao] YR wopy 2o

(23 3-15] &AL F4 571




H3Y ZAF

[# 3-20] cHEXS| HY

&711=4

(B9 74, %
Ljo| &g o A Ho|
. L e masE | Shn | ieme
= M g | SET | wmolgwe | sk 1
Sl Galdl sop
HA| (271,375) 58.9 15.8 0.3 24.3 0.7
=y (205,088) 57.6 16.0 03 256 0.6
oy (66,287) 63.2 15.2 05 204 0.7
M2 (59,703) 66.9 143 01 181 05
S+ /A7 (66,556) 644 114 0.7 230 05
2 (126,259) 65.6 12.8 04 20.7 05
ZMH (25/452) 61.0 9.0 06 288 06
oA (27,091) 56.9 32 0.0 39.7 0.2
ALt (81,726) 49.1 26.2 01 235 11
PACTIS B (10,847) 56.1 199 00 235 05
S92 242 2 oA (225) 52.1 233 00 240 0.7
K (85,264) 513 18.0 0.2 291 14
L0y 51 A0 (5872) 54.7 182 0.2 26.3 06
=0Ob QA HESEA Ol MEHAA (9,516) 60.1 193 16 184 05
oyt 38 9 =0 (757) | 445 157 00 376 21
He= HE 1t Gl 7k AHAY (23,110 654 16.8 00 16.8 09
AR | Sl ARIKIR] AH A (12,550) 46.5 16.8 04 355 038
s AHR (73,738) 70.0 140 0.7 154 0.0
Ofs AX Ol O[22 AHIA (3,456) 52.6 139 0.2 33.2 0.0
ofo| Bl i 42| 9L 7RI AHAY | (56,887) 57.0 134 0.0 294 0.2
(& 3-21] CIEXY Y E7|(1+229
(B9 74 %
RS | ooce | 2%
78 Mg | S| R | piaes | Tag | M
deep| | 2B | wwldws | oei
2P sop
HH| (271,375) 68.5 433 0.8 52.9 0.8
=Y (205,088) 679 440 0.7 53.7 038
0y (66,287) 701 413 12 50.7 0.7
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LOf 50 A (5872) | 248 10.2 202 319 113 16
20} QAL HESEA| 01 KeAH A (9,516) | 405 89 9.2 250 135 29
R a8 U =50 (757) | 237 06 347 257 56 97
He= 2 Jsh gl 7 AHPR (23110) | 438 146 127 149 125 14
ANSAPdaiE| 9l ARKIQ) AHAS (12,550) | 231 51 20.7 360 107 43
i T[N (73,738) | 107 10.1 77 321 380 13
Os AT 5l O [2iR AHAY (3456) | 147 6.9 103 347 334 00
S| Qe 22 L IEHIRIAEAY | (56,887) | 813 76 33 35 29 13
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oN
Elis

H 5%

J

$219) BT § HF 45

o | 1002rg~ | 2002rd~ | 3002rd-~ )

22 Neis | 1OBE | ooor | oo | aoverm | 40T
) Tor | o | o 4
HH (271,375) 89 193 35.8 204 15.7
= (205,088) 74 181 348 221 176
oM (66,287) 134 229 38.6 153 9.8
NS (59,703) 6.9 183 375 224 149
+cH OIX/ZA7| (66,556) 94 153 342 204 20.7
2 (126,259) 8.2 16.7 358 214 179
=X (25,452) 89 20.7 336 197 171
k=10 (27,091) 7.3 139 423 230 135
A=A (81,726) 101 231 355 184 129
Z/HIEA (10,847) 110 30.6 259 194 130
=2 A 3 oY (225) 55 13.0 279 237 300
A (85,264) 115 20.6 272 193 214
L0 3 AR (5,872) 88 204 379 164 164
25T @A HENEA] O MEAH AN (9,516) 116 26.2 319 147 156
o1z 38 3wl 75| 38 147 336 22 256
Ho= M2 gl 7 AHNY (23,110) 10.8 199 379 174 139
AAERR| B AR AH A (12,550) 9.7 239 338 166 16.0
g MHRA (73,738) 5.0 137 473 196 143
Ol AXX G O [t A (3,456) 56 25.8 311 24.5 131
o5| B B 42| B 7 EF KRl AR A (56,887) 8.8 21.6 339 26.3 9.5

[££1-10] (HEXIS] &Y H FRAY 1

2 gy | 22 | nay | =3 | B
72 was | i | EE o R G eele

ag | @ as | E |

HH (271,375) 66.2 4.2 20 154 26 1.2

= (205,088) 70.6 47 19 159 16 11

(0: 5] (66,287) 527 27 21 141 58 14

NE (59,703) 674 6.5 14 134 41 24

23 OIX/A7| (66,556) 63.0 38 28 16.7 26 12
A (126,259) 65.1 51 2.2 15.1 33 18

=N3A (25,452) 64.3 21 25 143 41 0.6

k== (27,091) 69.1 19 17 139 21 0.0

gt (81,726) 68.9 47 13 15.7 0.8 08

I EST (10847) | 574 01 40 237 60 23

= 2ot 3l ofAd (225) 339 11 34 30.6 0.0 0.0

HE (85,264) 69.0 40 0.8 14.8 11 1.0

C0f 5 A0f (5,872) 50.2 5.9 0.7 23.0 0.2 7.8

=t AF HESEA| O] MEAH AN (9,516) 56.3 10.2 3.8 184 0.8 26
ol=H =8 & 51 (757) 61.0 73 21 19.7 10 0.0
Ho = M2 1R 8l 7 AHNY (23,110 619 472 6.4 164 0.6 44
AZA PR | B ARIKIR] AH A (12,550) 60.1 6.3 35 16.5 11 0.5
=2 MR (73,738) 57.5 44 24 16.7 7.5 0.8

Os AX Sl 07 R AHIA (3,456) 50.8 32 46 154 7.7 17
ofo| 9 Tl 42| U 7} KR AHIA (56,887) 810 25 0.7 12.8 0.0 0.0
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2018 191 27| AEHRAL

$E111] fEXS HY H F27 2

A PR B AIRI] A (11,056 451 250 20.1 35 514 288 226

nE AHRA (65,804 143 73 70 3.0 82.7 24.2 58.5

Ojfs ALTX O O 2l AHIA (2,882 38.8 158 23.0 88 524 303 22.1

(Sl 70 %)
a2z oz
& B of Al B FHY (3 7|EL
FH)) FH))
XA (271,375) 14 35 0.6 23 0.5
CHEX} L (205,088) 07 00 07 23 05
‘d oA (66,287) 37 144 05 21 06
N2 (59,703) 08 23 05 11 00
2~z OlRl/Z47| (66,556) 15 29 06 45 04
27 (126,259) 12 26 06 29 02
Ao =X (25,452) 18 37 10 27 27
sS4 (27,091) 21 35 18 29 12
o | (81,726) 16 48 01 11 02
b1y B (10,847) 03 38 09 12 04
01 2lot gl o (225) 38 59 11 44 158
M (85,264) 11 54 06 13 08
O 9l A0 (5,872) 12 64 19 2.1 08
2T} QA HESEA| O AEAHAYS (9,516) 14 40 04 2.1 01
S EJ] =25 3 =510 (757) 31 5.8 0.0 0.0 0.0
Ho= 2 Sk Gl 7 AHA (23,110) 08 21 02 28 00
AOAPERIE| Bl ARIKIS] AHIAYS (12,550) 07 6.7 07 22 15
S AHPAO (73,738) 31 21 07 46 02
Os ATX Ol OP 2 AHIAY (3,456) 21 106 08 31 00
45| 9l ChY| 22| 2 7EF 70 AHRRST | (56,887) 00 14 0.5 05 06
[FE1-12] g M HY A30 o 4F A
(SH - 7H %)
ol ofat
72 NEE U8 am | == dy  am
gict oick ol ,3 QCk
HA AN
bS] (248723) | 17.8 95 83 30 79.2 325 46.8
CHEX} L (196,490) | 173 90 83 29 79.8 337 460
4 & ojd (52,233) | 196 116 8.0 32 772 27.7 495
M (56,897) | 17.3 82 91 36 79.1 339 452
BN oIx/Z7| (59,976) | 188 104 83 38 775 253 522
A (116,873) | 181 94 8.7 37 78.2 29.5 488
Aol =147 (22415 | 199 11.0 88 29 77.2 342 430
sS4 (23997) | 157 82 75 24 819 208 611
QiLk (75298) | 17.0 92 78 23 807 | 406 401
P e (10,140) | 20.2 135 6.7 12 786 313 474
=0 001 51 oY (155) | 267 115 15.2 6.0 674 | 414 260
M (77,384) | 199 120 78 35 76.7 335 432
COf 5l Anft (5151) | 376 248 128 51 573 39.6 17.8
2T} QA HESEA| O AEAHASS @8756) | 196 99 97 18 786 | 458 328
JR— 28 U 5 (690) | 484 29.8 186 96 420 129 291
He= 2 sk gl 7 AHA (21,721) | 148 6.2 86 19 833 444 390
)
)
)
)

ofo| ST 42| S 7EL7HRl MY | (55,122 11.0 4.7 6.2 2.3 86.7 34.5 52.2
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A5y HE
2 2113] (hEX O/ XE 28 MF
(Bl 7H, %)
8 5 o
ex} Mg | o | L | am | awm | EE | g
HH (241,618) 194 25.8 83 16.7 27.5 24
e (193,212) 191 294 9.5 192 20.8 19
oM (48,406) 20.6 112 34 6.5 54.0 42
NE (54,466) 205 244 10.0 126 311 15
| OIX/A7| (58,218) 196 314 94 153 233 11
2 (112,684) 20.0 28.0 9.7 140 270 13
=53 (21,361) 188 28.8 9.8 17.6 221 29
k=10 (23,430) 15.8 22.8 73 14.8 351 4.2
A=A (74,656) 184 229 6.4 219 27.8 26
Z/HIEA (9,488) 292 229 55 10.5 23.6 8.2
= AN Bl o (155) 413 122 5.8 9.6 294 17
HE (76,432) 16.6 227 121 35.2 130 04
L0f 5 ANfRd (5139) 329 108 20.7 24 327 0.6
21 @A HESEA] O MEAH A (8,681) 303 230 135 0.6 299 2.7
ol=H =8 % 5549 (682) 315 17 8.8 43 519 17
Ho= M2 1t gl 7 AHY (21,582) 233 346 7.8 18 281 44
AZAPERR| B ARIKIR] AH A (10,913) 25.0 6.3 157 8.7 418 26
s AHPR (60,293) 251 83 11 09 586 6.0
Os AX Sl 072124 AHIA (2,618) 196 117 55 29 56.1 42
o5| B B 42| B 7 EF KRl A (55,122) 110 524 7.7 20.5 8.0 04
[FE1-14] cEXe] ¥Y © X 27 7|
(&9l - 7H, %)
7] ™ [ERTES ] L36/HS! ] _
2 s | SR R e | R o | maem
HH| (241,618) | 0.1 0.5 21 04 96.9 135.10
= (193,212 0.1 0.7 18 0.5 97.0 139.78
(0: 95} (48,406) 04 0.0 32 0.0 96.3 11641
NE (54,466) 0.0 04 17 0.2 97.7 137.22
S OIE/A7| (58,218) 0.0 04 14 0.5 97.7 146.53
M (112,684) 0.0 04 15 04 97.7 142.03
=3 (21,361) 0.0 0.7 2.2 01 97.0 140.52
oL (23,430) 0.0 0.7 24 0.7 96.2 133.06
At (74,656) 04 0.7 2.8 04 95.7 125.16
JHEA (9,/488) 0.2 0.2 15 01 98.0 123.80
=9 % 8l o (155) 00 22 11 15 95.2 162.19
= (76/432) 0.0 0.6 14 0.3 97.7 153,50
L0 3 ANIfed (5139 0.0 0.1 19 0.1 97.8 126.18
b GAF HESEA| QI HEAH|IA (8,681) 0.0 0.1 18 0.5 97.6 12293
o1z 38 9 =0 (682 | 04 | 00 35 00 %2 | 18367
Ho= M2 g8l 7 AH (21,582) 04 11 12 0.0 973 130.08
ARAERR| B ARIKIR] AH A (10,913) 0.0 0.0 15 0.0 98.5 155.26
e AHRA (60,293) 0.3 0.2 39 0.9 94.7 108.24
Olks AxX Gl O Rt A (2,618) 04 0.0 47 11 93.8 128.73
Tio| 31 B 2] S 7EFHRI AHIA (55,122) 0.0 0.8 13 0.2 97.6 13932
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HE1-15] ciEXtel HY HH
(EH - 7H %)
= A3l a4 AS g gls A e e 1))
A (271,375) 21.2 788 141
CHEX} L (205,088) 219 781 142
g4 49 oA (66,287) 193 80.7 134
M (59,703) 19.0 810 132
| IH/ZA7| (66,556) 259 741 152
Y| (126,259) 27 773 144
Aol =X (25,452) 19.5 80.5 1.28
sS4 (27,091) 176 824 1.25
ety (81,726) 19.7 80.3 135
PICTs B (10,847) 289 711 1.84
=01 0lof gI of2d (225) 374 626 141
M= (85,264) 219 781 133
Of 51 AT (5,872) 269 731 151
20} QAL HESEA| O KA A (9,516) 283 717 116
ol 28 gl 5 (757) 24.0 76.0 1.65
He= D JH gl 7 AHPR (23,110) 202 79.8 1.40
AOAPERIE| Bl ARIKIS] AHIAYS (12,550) 243 75.7 146
S AHPRS (73,738) 21 779 1.56
Os A Gl P 2l AHAY (3,456) 213 787 133
oio| S E| 2| W 7EFHRIAHAY | (56,887) 16.8 83.2 1.34
[$51-16] 1t AIYH AZat o AF2 Y o
(SH - 7H %)
= Al 2ot Zx| gt
XA (57,617) 70.9 29.1
CHEX} L (44,813) 69.5 305
4 4 oA (12,804) 75.7 243
M (11,369) 674 326
| OI%/Z7| (17,258) 714 286
A (28,627) 69.8 30.2
Ao =X (4,961) 713 287
sS4 4,770) 788 212
oLt (16,128) 723 277
PICT S B (3,131) 60.9 39.1
&2 R 9l o (84) 64.7 353
HE (18,714) 65.5 345
LOf 5 A (1,582) 4838 512
S Apt HESEM Ol HEAH A (2,694) 716 284
- 28 4l 5 (182) 34.2 65.8
=e= M2 1 Ol 7k AHAY 4,678) 69.3 307
ANSAPIRE| 9l ARKIQI AHAS (3,049) 429 57.1
S AHPY (16,319) 810 190
O AT Ol O A (737) 504 496
S35 91 CHY| 22| 9 7} 7j0) MY (9,579) 79.7 203




[F51-17] Y A2 A

= g

214 o] o

— "

(T2l M, %)

T At | X @Ct 2ot Ba(d)
A (271,375) 309 354 398
L (205,088) 318 333 392
o (66,287) 279 417 416
N (59,703) 3438 194 373
A oiN/g7| (66,556) 409 238 364
2 (126,259) 380 217 368
=54 (25452) 376 229 368
S (27,091) 167 706 4.83
LA (81,726) 228 477 422
Z/HFH (10,847) 278 427 416
59 1 3l of] (225) 274 508 430
MR (85,264) 373 317 3.80
=0j 5 A (5872) 269 284 3.95
51} Ol HESEA| Ol REAHANS (9,516) 305 283 391
- 28 1 =5 (757) 258 52.0 432
=oE M2 2Ol 7k AHAY (23,110) 324 300 388
NN BN NPTy (12,550) 313 327 3.85
0 AHRAY (73738 285 44.8 4.24
O Asx 9l Ot A (3456) 289 335 4.02
ol 3 T 42| SL7EHHOI MHIAY | (56,887) 241 332 3.9

[£21-18] Y DAIe 52

XI5t Q1A &

(2] - 74, %

= Ml | JEX| QCh JEC} R ()

HH (271,375) 351 27.7 3.79

= (205,088) 36.0 263 375

(0: 5] (66,287) 320 318 3.90

N2 (59,703) 355 195 370

| IR/ E7| (66,556) 40.7 210 3.55

A (126,259) 383 20.3 3.62

=XN3A (25,452) 436 187 353

SHH (27,091) 277 534 420

A=A (81,726) 30.3 32.8 3.96

IR OEET (10,847) 319 316 397

=2 e 3o (225) 253 554 442

HEY (85,264) 423 261 3.65

E0f S A (5,872) 333 20.6 375

25} AL HESEA] Ol MEAHA (9,516) 282 279 3.95

P =5 % 59 (757) 57.2 9.7 319

Ho= M 1t El 7 AHAY (23,110) 321 249 382

AZAPRR| B ARIKIR] AH A (12,550) 343 264 3.68

e AR (73,738) 311 357 4,00

Ofs Az 5 PR AHAY (3.456) 356 328 391

oo 3 TR 2] R 7EHRIAHG | (56,887) 318 214 370
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MITO|

|25 = SIS Sall 83

15

B 2 OloP IS X ==Lt

(T2l 7 %)

= Abefl J%x 2t HEo|C} J3ct " ™)
A (271,375) 381 419 19.9 3.64
L (205,088) 396 408 196 3.60
oA (66,287) 336 454 209 375
M2 (59,703) 404 462 134 3.53
| IH/ZA7| (66,556) 455 401 144 3.36
Y| (126,259) 431 430 139 344
=X (25,452) 440 433 12.7 345
sS4 (27,091) 159 328 513 441
ety (81,726) 363 429 209 373
PICTs B (10,847) 36.7 417 21.6 3.76
=01 0lof gI of2d (225) 230 389 381 4.24
M= (85,264) 4938 341 16.1 3.38
Of 51 AT (5,872) 395 458 147 3.48
=} QAL HESEA| O1 KHAHAO! (9,516) 290 498 212 377
- 28 ol 50 (757) 325 261 414 407
He= D JH gl 7 AHPR (23,110) 340 46.0 199 371
ARSI D1 ARIK|S) AH A (12,550) 368 453 179 3.57
S AHA (73,738) 301 417 281 3.92
Os A Gl P 2l AHAY (3,456) 400 428 173 3.64
oo 5L BN 2 W 7EFIRIAHAN | (56,887) 346 499 156 3.62
£E21-20] chEXIS] Y S711=2)
(Tl < 7H %)
L|O| x-lkl'||- %9 _.’_E% Jg_hll_g|
o 2w 50y
A (271,375) 58.9 15.8 03 243 0.7
CHEX} L (205,088) 576 16.0 03 25.6 06
4 & oA (66,287) 63.2 15.2 05 204 07
M (59,703) 66.9 143 01 181 05
| IH/ZA7| (66,556) 64.4 114 07 230 0.5
A7 (126,259) 65.6 128 04 20.7 05
Aol =X (25,452) 61.0 90 06 2838 06
sS4 (27,091) 56.9 32 00 39.7 0.2
Lty (81,726) 491 26.2 01 235 11
b1t e (10,847) 56.1 199 00 235 05
=01 0lof gI of2d (225) 521 233 00 240 07
Hot (85,264) 513 180 0.2 291 14
Of 51 AT (5,872) 54.7 182 0.2 263 06
20} QAL HESEA| O KHAHADS (9,516) 60.1 193 16 184 05
R 28 ol 50 (757) 445 15.7 00 376 21
Ho= I kgl 7 AHA (23,110) 654 168 00 16.8 09
ARSI D1 ARIK|S] AH A (12,550) 465 168 04 355 08
S AHP (73,738) 700 14.0 0.7 154 00
Oy A Ol Op [ AHA (3,456) 526 139 0.2 332 00
45| 9l ChY| 22| 2 7EF 70 AHRRYT | (56,887) 57.0 134 00 294 0.2
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A5y BHE
2E1-21] tjEXS| ¥H S7I11+2=9)
okl 7H %)
Ljo] Zhdat ol
Lo *loixlel ox|E
T MAT | e wielags | o | M
Lot tiopy
XA (271,375) 68.5 038 529 0.8
Lk (205,088) 67.9 07 537 08
ol (66,287) 701 12 50.7 07
M (59,703) 764 09 485 09
g3 OI%/Z7| (66,556) 736 12 50.1 06
27 (126,259) 75.0 10 493 07
=x7 (25,452) 707 11 480 07
sS4 (27,091) 744 08 624 02
o | (81,726) 56.5 04 575 11
PICTs ] (10,847) 63.2 04 494 05
01 2lot gl o (225) 57.8 11 578 07
HE (85,264) 63.2 04 546 16
0 9l A0t (5,872) 583 08 448 06
250} QAL HESEA| O KA A (9,516) 64.5 18 431 05
oj=m 28 U S (757) 589 00 564 21
Ho= 2 SOl 7 AHAY (23,110) 722 08 485 09
AR diE| Sl ARIKIQ) AHIAY (12,550) 533 09 576 08
S AHPAY (73,738) 804 16 576 00
Os A Ol OP 2R AHAY (3,456) 572 02 61.8 00
oI5| Bl Chy| 22| & 7B} il MHR! | (56,887) 65.3 0.2 471 06
[£51-22] Y = HEYHIA(EFSH)1
CH : L, %)
o
78 s | w4 An S =
% #ﬁxl?_l oHd I‘ (ch °|1|E 3) OI:III‘
XA (271,375) 482 45 0.0 384
Lk (205,088) 446 51 00 405
oy (66,287) 593 25 00 319
M (59,703) 59.1 44 00 36.7
BN oIxy/Z7| (66,556) 513 40 01 333
27 (126,259) 55.0 42 00 349
=147 (25,452) 584 13 00 369
sS4 (27,091) 58.5 56 00 75.5
QiLk (81,726) 336 53 00 328
PICTs e (10,847) 29.2 6.1 00 310
L0 0o 5l o (225) 498 77 00 55.1
HE (85,264) 398 55 00 291
S0 9! A0t (5,872) 356 32 00 238
20} QAL HESEA| O KEAH A (9,516) 395 77 00 194
olr =5 9 = (757) 459 06 00 56.0
He= M2 Ol 7k AHAY (23,110) 395 6.5 02 250
ANSARIRE| 9l ARKIQI AHAS (12,550) 532 6.1 04 313
S AHPAY (73,738) 55.7 34 00 46.7
O AKX gl OP I AHIAY (3/456) 516 42 00 498
Sio| SJ E| 2| W 7EFHRIAHAY | (56,887) 55.9 29 0.0 52.1
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[£51-23] #Y 29 YEYIAE4ST)2

(21 - 74, %

TE Al EEL HEEE | HeRgop | 2%eex s
HH| (271,375) 14 0.2 0.6 12 231
CHEX} b (205,088) 18 0.2 06 11 243
4 & o (66,287) 01 01 08 13 194
M (59,703) 25 03 11 19 184
| Q147 (66,556) 18 0.2 07 13 25.8
A (126,259) 2.1 03 09 16 223
Ao X3 (25,452) 13 00 05 19 201
sS4 (27,091) 00 00 03 03 20
Lty (81,726) 08 01 03 08 305
PICTs (10,847) 0.2 01 01 01 358
01 QIot gl of2 (225) 00 00 45 00 112
HE (85,264) 26 01 10 18 306
SOf 5 A (5,872) 06 00 13 01 452
2} oA} HENEA| DI HEAHADS (9,516) 03 07 54 11 353
e o8 X =5 (757) 21 0.0 0.0 0.0 104
He= M2 15t 7k AHAY (23,110) 09 08 04 21 319
ANSARIRE| 9l ARKIQ) AHIAS (12,550) 08 04 04 40 235
S AHP (73,738) 00 00 00 00 118
Os ATX Gl OP 2 AHIAY! (3,456) 09 00 16 0.2 143
&45] 9 ChY| 22| D TEF 7RI AHRYT | (56,887) 18 00 00 10 193
[FE£1-24] & =H| 7|2t
(] 2 7H %)
2 s | O o ugde) RGRR oy gy | B2
|2 19 o9t | 74 ojgt ojat )
A (271,375) 316 31.3 25.2 10 11.0 10.12
CHEX} LhA (205,088) 300 309 267 09 116 1042
44 ojd (66,287) 366 325 208 11 9.0 9.19
e M (59,703) 326 24.8 314 09 103 10.58
‘gﬂ Olxl/Z7| (66,556) 349 30.7 225 09 11.0 9.89
el A7 (126,259) 338 27.9 267 09 10.7 10.21
T =57 (25/452) 36.8 335 21 09 6.7 801
= el (27,091) 27.0 284 342 18 86 9.19
oIty (81,726) 281 374 203 08 134 10.94
b1 o B (10,847) 312 25.7 306 0.5 12.0 10.21
91 Qo4 0l of2] (225) 312 30.8 220 41 119 10.94
HE (85,264) 375 27.2 24 12 116 987
Oj 9! A (5872) 350 25.8 27.6 23 93 881
I} oA HENEA| I EHEAHAG! | (9516) 289 20.2 36.1 09 13.9 10.80
ES =9 gl Hsiof (757) 26.8 442 231 11 48 8.54
| M sH Ol 7k AMHA (23110) 282 26.0 317 19 12.2 1046
A PERIE| U ARIKIR) AHA! | (12,550) 372 24.7 287 10 83 8.28
I AR (73738) 337 334 226 06 9.7 1041
Os ATX 51 OP [ AHAD! (3/456) 379 37.5 164 19 6.2 8.05
&5\ 9ICh 22| L 7EPIRIAHPY | (56,887) 198 39.9 27.9 0.5 11.8 10.57
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A5 BEE
[$51-25] Y <A o 2A(1=9) 1
(EH - 7H %)
Al ME/
& Ml | 7B | AEXE | ¥FME | EfEd | WEER | AMdA
=4 U ES
XA (271,375) 39 65.7 14 43 16 0.2
Lk (205,088) 40 674 13 41 16 0.2
ol (66,287) 38 60.5 15 51 18 03
N2 (59,703) 45 60.2 21 48 13 05
e | OlRl/Z47| (66,556) 46 65.7 12 78 17 00
27 (126,259) 45 63.1 16 6.4 15 02
=X (25,452) 17 714 15 54 31 03
sS4 (27,091) 5.6 63.0 11 21 40 02
o | (81,726) 31 68.5 12 19 07 01
b1y B (10,847) 39 67.3 03 09 11 01
01 2lot gl o (225) 49 65.1 08 88 88 00
M (85,264) 29 707 10 2.2 05 05
O 9l A0 (5,872) 16 57.8 27 5.1 10 14
2T} QA HESEA| O AEAHAYS (9,516) 45 66.6 25 238 18 00
oz=my 28 U S (757) 00 54.8 76 135 31 00
Ho= 2 Sk Gl 7 AHA (23,110) 5.7 55.0 02 5.1 2.2 03
AR iE| Ol ARIKIQ) AHIAY (12,550) 28 63.0 5.0 33 5.8 02
S AHPAO (73,738) 46 64.0 13 56 25 00
Os ATX Ol OP 2 AHIAY (3,456) 26 67.5 17 40 10 0.2
45| 9l ChY| 22| 2 7EF 70 AHRRST | (56,887) 44 65.9 13 5.8 10 00
[F51-26] &Y A o 2AZ (1= 2
(SH - 7H %)
ASRA/ | AR S8/
= AlEE | US| ATEE | 3%us | A 0 7|t
] Bs
P (271,375) 6.6 15 0.1 12 78 5.6
Lk (205,088) 6.5 15 01 11 6.5 57
oy (66,287) 6.8 16 00 15 119 5.2
M (59,703) 6.6 17 00 12 121 5.0
B | oIxy/Z7| (66,556) 33 17 00 11 74 56
27 (126,259) 483 17 00 12 96 53
=147 (25,452) 44 09 03 09 81 20
sS4 (27,001) | 140 09 0.2 07 6.5 17
oLt (81,726) 76 17 01 17 56 77
PICTs e (10,847) 6.0 19 00 08 72 105
L0 0o 51 o (225) 37 19 00 00 30 31
HE (85,264) 40 18 02 09 7.2 80
S0 9! A0 (5,872) 26 18 00 15 184 6.2
250} QAL HESEA| O KHAHAQS (9,516) 44 23 03 36 6.7 46
- 28 gl 5 (757) 2.1 06 00 06 120 5.8
He= 2 St 91 TR AHA (23,110) 74 46 01 07 93 93
ANSARIRE| 9l ARKIQI AHIAS (12,550) 30 26 02 20 83 37
S AHPAY (73,738) 75 10 00 15 107 14
Oy AT Ol OPf2iE AHIAY (3/456) 88 11 00 12 92 28
oo S T 2] Y 7EFIOLAH | (56,887) | 105 03 00 10 34 64
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2018 121 2=27|

|
[$51-27] #Y <A O 2AE(1+229)) 1
(Sl 70 %)

Al ME/

& Ml | 7B | AEXE | ¥FME | EfEd | WEER | AMdA
=4 U ES
XA (271,375) 6.4 746 33 108 53 11
CHEX} L (205,088) 69 759 32 104 53 12
g4 ojA (66,287) 5.0 705 35 120 5.1 09
N2 (59,703) 6.6 69.5 46 120 46 12
e | olX/Z7| (66,556) 59 719 25 14.2 59 15
A (126,259) 6.2 70.8 35 13.2 53 14
Ao =X (25,452) 33 80.8 51 16.2 94 16
sS4 (27,001) | 102 738 29 6.5 86 11
Lty (81,726) 6.6 783 25 76 31 06
PICT e (10,847) 52 77.0 28 45 44 04
01 2lot gl o (225) 8.0 75.2 28 212 140 00
M (85,264) 6.7 77.8 26 85 39 15
O 9l A0 (5,872) 24 67.6 49 838 34 24
2T} QA HESEA| O AEAHAYS (9,516) 79 747 5.1 89 35 08
oz=my 28 U S (757) 06 64.9 185 247 82 00
Ho= 2 Sk Gl 7 AHA (23110) | 101 62.6 27 13.0 64 11
AR iE| Ol ARIKIQ) AHIAY (12,550) 40 708 131 151 109 20
S AHPAO (73,738) 54 728 18 12.2 77 10
Os ATX Ol OP 2 AHIAY (3,456) 44 76.7 6.9 115 64 07
45| 9l ChY| 22| 2 7EF 70 AHRRST | (56,887) 6.7 784 33 10.8 29 04

[$51-28] &Y A O2ALE(1+2:9)2
£kl 7H %)
AISE | AR S8/
= AlEE | US| ATEE | 3%us | A ren] 7|E}
ste g=

XA (271,375) | 280 47 0.1 55 24.1 5.7
CHEX} L (205,088) | 278 48 01 55 228 5.8
4 4o oA (66,287) | 289 43 01 55 282 53
M (59,703) | 259 59 00 83 284 5.0
B | oIxy/Z7| (66,556) | 245 47 01 69 222 6.1
27 (126,259 | 252 5.3 01 76 251 56
o =X (25452) | 298 37 05 23 193 21
sS4 (27,091) | 454 23 0.2 20 29.8 19
oLt (81,726) | 274 48 01 47 225 77
PICTs e (10847) | 191 5.5 00 43 219 105
=01 2lof gl ofe 225 | 223 53 00 78 201 31
HE (85264) | 185 51 0.2 38 200 8.2
S0 9! A0 (5872) | 110 6.6 00 6.1 457 6.2
250} QAL HESEA| O KHAHAQS (9,516) | 138 84 05 121 24.2 46
- 28 gl 5 (757) | 199 53 00 27 25.6 5.8
He= 2 St 91 TR AHA (23110) | 159 114 04 43 273 93
ANSARIRE| 9l ARKIQI AHIAS (12,550) | 120 71 0.2 73 251 39
S AHPY (73738) | 374 25 00 87 317 14
Ogs ATk Ol o2 AHIAY (3456) | 342 27 00 6.5 213 28
oo 9 T 2] YL 7EFIONAHY | (56,887) | 425 30 00 2.8 169 6.3

1 72 | =




A5 BEE
[£51-29] Y <A o 2AR(1+2+3=9]) 1
(EH - 7H %)
Al ME/
& Ml | 7B | AEXE | ¥FME | EfEd | WEER | AMdA
=4 U ES
XA (271,375) 71 713 40 149 82 17
Lk (205,088) 77 788 39 15.0 84 19
ol (66,287) 54 726 45 147 76 11
N2 (59,703) 73 733 57 173 84 19
e | OlRl/Z47| (66,556) 6.3 753 32 19.2 81 20
27 (126,259) 6.8 744 44 183 82 20
=X (25,452) 43 83.2 5.8 241 153 26
sS4 (27,001) | 109 776 37 89 169 23
o | (81,726) 74 799 31 98 36 11
b1y B (10,847) 5.5 77.2 28 6.8 5.2 04
01 2lot gl o (225) 91 775 36 251 16.2 2.2
M (85,264) 81 787 32 113 5.2 26
O 9l A0 (5,872) 24 69.3 51 98 5.0 27
2T} QA HESEA| O AEAHAYS (9,516) 79 76.2 6.0 12.1 53 12
oz=my 28 U S (757) 06 748 20.0 371 14.2 00
Ho= 2 Sk Gl 7 AHA (23110) | 122 66.6 28 149 7.2 26
AOAPERIE| Bl ARIKIS] AHIAYS (12,550) 43 729 175 230 143 24
S MY (73,738) 5.7 75.7 22 163 12.8 11
Os ATX Ol OP 2 AHIAY (3,456) 46 781 76 165 93 14
45| 9l ChY| 22| 2 7EF 70 AHRRST | (56,887) 6.7 836 42 173 6.7 07
[F51-30] Y A o 2AR(1+2+3&9]).2
(5491 < 7H, %)
ASRA/ | AR S8/
= Ml | HAU3E | ABEE | ZEns | ER 0 7|t
] Bs
P (71375 | 341 90 03 80 359 5.8
Lk (205,088) | 334 96 02 79 337 59
oy (66,287) | 361 71 05 83 425 54
M (59,703) | 344 136 01 10.2 441 5.1
B | oIxy/Z7| (66,556) | 322 80 02 10.8 347 6.1
27 (126,259) | 333 10.7 02 10.5 392 56
=147 (25452) | 389 88 0.5 39 372 22
sS4 (27,091) | 528 36 0.2 52 459 23
QlLk (81,726) | 292 85 04 6.6 285 77
PICTs e (10,847) | 219 72 00 5.7 248 105
L0 0o 51 o (225) | 254 126 00 15.2 346 31
HE (85264) | 210 81 02 59 254 83
S0 9! A0 (5872) | 137 116 00 6.3 52.1 6.2
250} QAL HESEA| O KHAHAQS 9,516) | 159 176 14 14.8 326 46
- 28 gl 5 (757) | 340 6.2 00 33 423 5.8
He= 2 St 91 TR AHA (23110) | 189 173 04 6.1 36,5 93
ANSARIRE| 9l ARKIQI AHIAS (12550) | 154 173 09 112 336 44
S AHPAY (73738) | 484 38 03 124 52.0 14
O AKX Gl OP I AHIAY (3456) | 403 37 00 92 304 28
ool Qe 2 L I7EHIOIAHAY | (56,887) | 501 10.5 00 44 300 6.9
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20183 12 27| AEIRA

(Sl 70 %)
= A3l UCt 2ict
XA (271,375) 55 94,5
CHEX} Lk (205,088) 5.1 949
q o ol (66,287) 69 931
M (59,703) 6.5 935
2~z OI%/Z7| (66,556) 97 903
27 (126,259) 82 918
Aot =x3 (25,452) 5.3 947
Su (27,091) 5.6 9.4
QiLk (81,726) 19 931
P (10,847) 20 980
=2 201 8l o (225) 41 95.9
H= (85,264) 5.6 944
COf 9 A0t (5872) 5.7 943
25} QIAF HESEA| Ol KEAHIAS (9,516) 10.8 89.2
ol 28 4l el (757) 84 916
Ho= M2 15l 7k AHA (23,110) 6.4 936
AOAPERIE| Bl ARIKIS] AHIAYS (12,550) 23 977
S AHPRS (73,738) 82 918
Os ATX Ol O 2R AHIAY (3,456) 40 9.0
oo TR 2] R TEHRIAHNG | (56,887) 15 985
[f££1-32] ¥Hung HEETSH)
(Sl 70 %)
” o | me | I men | gom | BES
XA (14942) | 822 299 221 281 17.7 24
CHEX} Lk (10,388) | 809 283 185 296 189 24
‘4 8 oy 4554) | 853 336 302 247 149 25
M (3894) | 823 178 354 279 235 18
2~z3 OI%/Z7| (6426) | 826 396 137 231 91 29
27 (10320) | 824 314 219 249 145 25
Hopw =x3 1343) | 772 20.2 94 240 149 55
SuH (1,512) | 886 350 284 395 27.3 17
QiLk (1,544) | 776 241 293 423 317 00
P Q22) | 927 24.2 145 276 169 00
01 olot gl ofo © | 1000 452 274 274 00 00
HE @751 | 767 218 196 307 172 15
C0f 9 A0 336) | 751 218 179 323 427 20
20} QAL HESEA| O KHAH A (1,028) | 803 483 494 457 523 6.7
oj=m 28 9 5o ©4) | 817 383 00 183 00 00
Ho= 2 TSt 9l TR AHA 1471 | 740 321 425 451 435 16
AR diE| Sl ARIKIQ) AHIAY (291) | 400 00 224 175 65.0 00
S AHPY 6019) | 920 353 146 196 46 00
Os ATX Ol OP 2R AHIAY (138) | 831 334 277 50.2 27.8 00
S5 91 CHY| 22| 9 7} 7j0l MHAY (835) | 774 226 226 226 00 226

174 |°



oN
Elis

H 5%

J

1. 3das 712

(91 : 74, %)

78 s | wpgo | TENE | ORTE | TBH oy | waom
XA (14942 | 714 15.0 52 0.1 83 2.89
CHEX} b (10,388) | 680 159 6.0 0.2 99 3.19
= ol 4554) | 790 128 36 00 46 221
Mg (3894) | 696 10.8 6.1 00 135 3.69
| O/ A7| (6426) | 780 128 26 03 6.3 2.24
A7 (10320) | 749 120 39 02 9.0 279
Hoe =X 1,343) | 747 115 83 00 55 244
Stk 1512 | 517 336 114 0.0 33 331
gLty (1,544) |  66.0 189 42 00 11.0 361
2emEA 222) | 602 180 145 00 73 2.53
=01 oot gl ofed 9 | 452 274 274 00 00 3.10
A @751) | 674 16.8 5.2 00 10.7 345
Z0j 31 Apd 336) | 362 304 124 00 210 466
T} QA HESEA| O] KEAHA (1,028) | 450 236 100 21 194 6.20
oiz=m 28 9 Fot ©4) | 817 183 0.0 0.0 00 115
Ho= M2 Ll 7R AHA (L471) | 724 35 12.1 00 12.0 3.14
ANSIPRIR| Gl AfRIKIS] AHIAYS 91) | 676 99 224 00 0.0 219
S AHPY 6019 | 798 132 23 00 48 1.99
Ofs ATZX Gl OP Iz AHAY 138 | 797 129 74 00 00 1.49
Tio| 31 B 2] 3 7EFHRI AHIA (835 | 774 226 0.0 0.0 0.0 1.60

[f£E1-34) Y = A 0fjz 2 7|2t
(EH] - 71, %)
gpe~ | 67fE~ | 97~ s | -

& ~ EY | 14 ! ey

= T o | GRTRE S o | 3| e

A (271,375) | 765 137 6.6 0.1 29 0.2 227

CHEX} b (205,088) | 758 141 6.6 02 31 0.2 231
¥ 4 o (66,287) | 785 12.2 69 0.0 22 02 213
M (59,703) | 693 169 94 03 34 06 2.54

ey Ol%l/Z7| (66,556) | 783 124 6.0 00 32 00 221

A7 (126,259) | 741 145 76 02 33 03 237

Hop =X (25452) | 760 123 77 01 38 0.1 233
=l (27,091) | 833 7.0 8.0 0.2 15 01 1.89

gLk 81726) | 77.2 155 47 0.1 25 01 2.24

P = (10847) | 841 926 38 0.1 25 0.0 211

=01 olof gl ofet (225 | 329 225 225 22 198 00 6.82

A (85,264) | 718 14.8 82 02 483 0.2 2.70

Z0j 3! A0p (5872) | 709 164 6.2 0.0 6.2 02 271

T} QlAb HESEA| O KeAH A 9,516) | 50.7 244 10.8 17 95 30 370

S 28 ol 50 (757) | 781 75 82 0.0 6.2 00 3.60
bl 2 sh gl 7R AH (23110) | 645 209 99 0.0 46 01 2.82
AR PERIE| 9! AR AR (12,550) | 674 16.6 129 00 31 00 268

S AMHPY (73738) | 776 147 64 00 12 00 1.99

Ofs ATTX gl P[22 AHIADS (3456) | 66.1 239 73 03 22 03 252

&5 9l Ch| 22| 9L 7EF 70 MEAL | (56,887) | 947 43 1.0 0.0 0.0 0.0 133
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H2E1-35] 48 YAl Xz U Z2EE HSF

(EH9] - 7H, %)
78 s | BN i | g

g T | e | me | 2T s Jéﬁa S -

A @71375) | 6692 | 7327 | 926 | 046 | 1395 | 242 | 065

CHEX} A (205,088) | 7004 | 7396 | 866 | 039 | 1388 | 246 | 065
Ad 1A 66287) | 5726 | 7113 | 1110 | 067 | 1416 | 230 | 064
ME (59703) | 6406 | 7837 | 827 | 066 | 909 | 273 | 087

N ORy7i7| 66556) | 6933 | 7222 | 801 | 056 | 1615 | 264 | 043

2 (126259) | 6684 | 7513 | 813 | 061 | 1281 | 268 | 064

Ao =X 25452) | 6394 | 7483 | 973 | 053 | 1253 | 194 | 045
S 27091) | 6235 | 5656 | 1982 | 044 | 1959 | 335 | 024

oLty ©81726) | 7011 | 7563 | 728 | 026 | 1417 | 183 | 083

I S 10847) | 6226 | 7200 | 975 | 012 | 1469 | 259 | 084

=01 oot ol o 225 | 20291 | 5914 | 1724 | 102 | 1449 | 348 | 464

A 85264) | 6984 | 7238 | 1055 | 031 | 1318 | 278 | 080

=0f 9! ATfd 5872 | 4124 | 8488 | 464 | 046 | 872 | 115 | 015

2} G} HESEA| G A 9516) | 7795 | 7593 | 358 | 040 | 1149 | 807 | 052

ol=t 28 9l ! (757) | 15901 | 7622 | 1302 | 077 | 690 | 000 | 308
=SS H2 D8t Ol 7 AHAY 23110) | 5889 | 7926 | 547 | 039 | 978 | 443 | 067
AOIkjdnia] 9l AjRIKiel AHIAY] (12550) | 6204 | 7598 | 654 | 016 | 1252 | 239 | 241

12 A 73738) | 7019 | 6681 | 1250 | 065 | 1778 | 205 | 020

Ofs A Ol opfat AHAY] (3456) | 9766 | 7068 | 681 | 051 | 1822 | 319 | 060

i) 0l Th 2] 2 7ol Mepsl | (56,887) | 59.81 | 7848 | 675 | 052 [ 1292 [ 070 | 0.62

[£21-36] AtRM Hef ¥ |X/H|E
(2421 - 74, 9%

NENET EEEL

2 2 2%/
22 MEAS | R | ez |23 0 o | WY | oRbe
20 QUCHAIE | ACHA|M =% (|:||_|-.9I;j)°

A @71375) | 190 777 23 04 06 14280

CHEX} oy (205088) | 191 782 19 05 04 144.81
qd o1y (66287) | 189 76.1 35 01 13 13654
JrEs (59,703) | 77 886 28 03 05 17212

BN OK/ZT| (66556) | 174 791 26 04 05 168.89

2 (126259) | 128 836 27 03 05 17041

Ao =3 25452) | 233 728 24 03 12 111.00
SL 27,091) | 257 695 29 11 07 11001

oLk 81726) | 239 737 16 02 06 12643

ZeyHEY (10847) | 281 69.7 11 02 09 10033

=01 oot I OfYf (225 | 565 3738 46 00 11 17353

A 85264) | 270 695 25 05 05 13024

0f 9l ATfed 5872 | 157 760 68 02 13 12864

21} G} HEAEA| G Y] (9516) | 130 793 66 07 05 12502

ol=t 28 9l =] 757) | 110 875 15 00 00 18177
=SS HZ 75Ol 7 AHAY @3110) | 139 804 38 08 10 12163
NOIPERIR] G AjOIKIS] ARG 12550) | 127 834 20 16 02 10441

IS AHP 73738) | 122 849 18 00 10 18207

Ofs ATk gl Op R AHAY (3456) | 184 773 32 02 09 15827

i) 91 iy 23| 51 7 7i0l e | s6,887) | 208 781 07 02 02 13095
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[F51-37] & A2

(SH9L 0 7H, =4EkR)

= Abefl Y A
A (271,375) 20347 54,969,701.79
L (205,088) 225.89 46,123,85631
oA (66,287) 134.07 8,845,845.48
NS (59,703) 252.25 14918,743.51
BN OIRYZ7| (66,556) 21643 14,391,343.17
A (126,259) 23329 29,310,086.68
=X (25,452) 157.14 3,995,958.41
sS4 (27,091) 12202 3,292,82827
LA (81,726) 210.00 17,065,582.08
ZURI= (10,847) 12033 1,305,246.34
=01 0/04 1 0f0] (225) 87217 193,939.88
A (85,264) 28734 24,437,371.35
=0j I A (5872) 204.20 1,199,077.39
=1} G} HEAEA| O MEAHA] (9,516) 17271 1,619,892.55
o 28 4l &l (757) 302.80 229,219.65
=52 HE 76Tl 7 AHA (23,110) 22047 5,086,806.04
NSAARR| QI ARIKIS) A (12,550) 190.95 2,396,441.53
1S AP (73.739) 15397 11,246,465.89
O Az i o iz AHIAY] (3,456) 17410 596,772.13
5] 0l Th 22| 2 70l MRS | (56,887) 14023 7,963,715.39

[F51-38] +& A2

(Sl 0 7H HER)

& At o g
A (271,375) 208.50 321,481.85
Ltk (205,088) 22641 279,375.25
| (66,287) 136.73 42,106.60
M (59,703) 90.64 31,282.12
BN Oll/Z7| (66,556) 396.40 230,920.13
27 (126,259) 282.65 262,202.26
=X (25/452) 230.29 20,788.72
s (27,091) 8.00 402.29
gty (81,726) 93.63 35,874.49
ZUH=A (10,847) 2447 2214.09
=01 0lof 3l {2 (225) 510.00 1,170.00
HE (85,264) 231.29 314,377.99
=0} 3! A0pH (5,872) 2150 1,575.23
2} GIAL HESEA| O HEAH A (9,516) 4994 431736
- 38 % =l (757) - -
He= 2 Jh 8l 7 AP (23,110) 2.00 41.26
MR | 5L ARIKIR] AHIA (12,550) -
S AHPAY (73,7398) - -
Ofs AT Ol op it AHIAQ] (3/456) - -
Sio| 9 T 52| 3 7ER iRl MER | (56,887) - .
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2£1-39] &7[=0|d 42
(SRl @ 74, =yael
= Abefl e A
A (271,375) 25.72 6,845,360.35
CHEX} L (205,088) 2844 5,732,581.93
g4 49 oA (66,287) 17.22 1,112,778.42
M2 (59,703) 26.80 1,555,370.02
| IH/ZA7| (66,556) 29.46 1,931,422.15
Y| (126,259) 2821 3,486,792.17
Aol =X (25,452) 17.68 44761538
SLY (27,091) 16.10 430,843.05
ety (81,726) 2846 2,283,948.51
PICTs B (10,847) 19.15 196,161.24
=01 0lof gI of2d (225) 57.40 12,820.11
M= (85,264) 33.65 2,803,147.94
Of 51 AT (5,872) 18.30 101,147.88
=} QAL HESEA| O1 KHAHAO! (9,516) 14.89 13443114
- 28 9l 5 757) 41.90 31,229.56
He= D JH gl 7 AHPR (23,110) 2867 652,094.46
ARSI D1 ARIK|S) AH A (12,550) 2549 318,435.53
S AHA (73,738) 18.10 1,314,753.17
Os A Gl P 2l AHAY (3,456) 26.57 90,171.35
&45] 8l ChY| 22| 2 7EF 701 AMEAY | (56,887) 2473 1,387,129.20
[F£1-40] X 2
(SRl : 74, =yoke))
= Abefl e A
XA (271,375) 107.21 2892375114
CHEX} L (205,088) 123.26 25,133,241.70
4 4 oA (66,287) 57.54 3,790,509.45
NS (59,703) 100.13 5,949,970.70
| OIF/Z7| (66,556) 96.03 6,385,549.86
A (126,259) 97.96 12,335,520.56
Ao =X (25,452) 68.98 1,753,545.08
SLY (27,091) 76.88 2,065,634.65
o (81,726) 147.10 11,895,570.07
PICT S B (10,847) 81.64 873,480.79
=01 olof gl o (225) 570.22 128,298.75
HE (85,264) 157.28 13,312,801.91
LOf 5 A (5,872) 39.97 234,227.85
=0} oA HENEA| D1 HEAHAD] (9,516) 90.18 850,853.29
JR— 28 U =S (757) 192.34 143,358.03
He= D Jh 8l 7 AHP (23,110) 62.29 1,430,747.23
ANSAPIRE| 9l ARKIQI AHAS (12,550) 4872 608,753.97
S AHPAS (73,738) 11344 8,304,859.98
O AT Ol O A (3,456) 59.05 201,135.90
olo| 3 S| 2] B TEHHRI AN | (56,887) 65.31 3,708,714.25




53 w2
[221-41] 200278 £F 7|7
(B2 2 71, %)
- o | B [ EH S| ,, | = =
T AL opt ol ~ opt of| 7 (2]
| o | T | A
HH| (271,375) 6.6 11.7 333 7.5 36.0 29 21 19.84
=M (205,088) 5.6 114 335 7.5 36.9 29 22 20.33
(0: 5] (66,287) 95 12.7 32.6 74 33.2 2.8 18 18.35
A-|§ (59,703) 55 104 37.8 53 329 38 44 20.56
| OIX/ZA7| (66,556) 99 123 353 5.0 31.0 472 24 18.53
A (126,259) 7.8 114 36.5 51 319 40 3.3 1948
=X (25,452) 52 15.2 323 91 342 24 16 18.98
S (27,091) 7.1 17.7 235 131 34.0 33 13 20.21
At (81,726) 53 9.3 320 9.2 421 12 09 20.23
Z/HIEA (10,847) 29 94 331 45 46.7 23 1.0 22.11
=2 ot ol o (225) 0.7 12.2 232 74 495 34 3.7 26.93
A (85,264) 7.7 93 29.6 6.1 419 45 09 22.07
EE0f 5 A (5,872) 24 8.7 313 9.1 34.2 8.8 5.6 20.82
251 @A HESEA] O MEAH AN (9,516) 31 123 26.9 7.0 36.6 5.8 84 20.68
o1z 38 3 weh 757 | 92 | 202 | 206 | 34 | 410 | 20 | 36 | 2087
Ho = M2 1t al 7 AHY (23,110) 52 9.2 39.0 6.8 33.6 45 17 19.38
ARAPERIR| B AR AH A (12,550) 6.7 115 26.9 8.1 419 41 0.7 20.99
s AHP (73,738) 74 173 281 8.2 331 15 44 18.33
O AX 5l 072 AHIAY (3,456) 7.0 144 317 48 38.8 25 0.7 19.49
o5| B | 22| B 7 EF KRl AR A (56,887) 5.2 9.0 464 89 30.2 0.2 0.2 18.24
[§21-42] T8SAX Z7FE(2016 128 7|%)
(S 71
yy o7 =]
P MIT s em (@2 eA ¥z @A
HH (271,375) | 1.45 394,129.73 | 0.79 214,076.93 | 2.24 608,206.66
4o (205,088) | 1.74 357,18148 | 0.51 103,833.25 | 2.25 461,014.73
0: 9] (66,287) | 0.56 36,948.26 | 1.66 110,243.67 | 2.22 147,191.93
MNE (59,703) | 141 83,892.97 | 0.95 56,866.95 | 2.36 140,759.92
23 OIX/A7| (66,556) | 1.56 104,065.13 | 0.81 53,589.42 | 2.37 157,654.56
A (126,259) | 149 187,958.11 | 0.87 110,456.37 | 2.36 298,414.48
=N3A (25/452) | 1.22 30,930.28 | 0.60 15,333.21 | 1.82 46,263.49
k1= (27,091) | 131 35,395.79 | 0.54 14,587.25 | 1.85 49,983.04
At (81,726) | 1.55 126,76145 | 0.80 65,35843 | 2.35 192,119.88
PAS VoS [Er| (10847) | 1.21 13,084.10 | 0.77 8,341.66 | 1.98 21,425.77
=¢ 2 3l i (225) | 3.53 793.20 | 1.56 350.88 | 5.08 1,144.08
HE (85,264) | 167 142,111.20 | 0.61 51,769.04 | 2.27 193,880.25
C0f 5 A0p (5872) | 1.15 6,730.85 | 0.73 4286.33 | 1.88 11,017.18
=t GAF HESEA| Ol MEAH AN (9,516) | 1.74 16,604.49 | 0.77 7,325.07 | 251 23,929.56
ol=H =8 & 5 (757) | 1.25 943.70 | 0.55 41996 | 1.80 1,363.66
Ho= M2 1t Ol T AHAY (23,110) | 1.51 34,885.66 | 0.68 15,702.07 | 2.19 50,587.73
AZAPERRR| B ARIKIR] AH A (12,550) | 1.60 20,131.04 | 0.89 11,187.63 | 2.50 31,318.67
=2 MR (73,738) | 1.20 88,500.56 | 143 105,575.44 | 2.63 194,076.01
Os AX Sl 07224 AHIA (3,456) | 142 490713 | 093 321471 | 2.35 8,121.84
i) Ol Tyl 42| 9 7 EF7HR! AH (56,887) | 1.38 78,521.89 | 0.25 14,245.79 | 1.63 92,767.68
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2018 121 2=27|

BIES MR 12 (201649 12¥ 7|F)

(G I

)

Yy o7 ]
P MAT Tz em (@2 8A @2 oA
HH (271,375) | 0.03 7,085.89 | 0.07 19,255.06 | 0.10 26,340.95
CHEX} = (205,088) | 0.01 1,338.07 | 0.09 18,503.38 | 0.10 19,841.45
4 d (0: 5] (66,287) | 0.09 574782 | 0.01 75168 | 0.10 6,499.50
NE (59,703) | 0.01 664.18 | 0.02 1,237.67 | 0.03 1,901.85
23 OIX/A7| (66,556) | 0.03 2,280.10 | 0.07 478807 | 0.11 7,068.18
A (126,259) | 0.02 2,944.29 | 0.05 6,025.74 | 0.07 8,970.03
Hoi =N3A (25,452) | 0.03 871.13 | 0.07 1,85945 | 0.11 2,730.58
k== (27,091) | 0.03 860.75 | 0.07 1,982.74 | 0.10 2,843.49
gt (81,726) | 0.03 2,304.59 | 0.11 8,727.87 | 013 11,032.46
PAC VoS (B (10,847) | 0.01 105.14 | 0.06 659.25 | 0.07 764.38
= 2 3l ofAd (225) | 0.06 1443 | 0.16 35.04 | 0.22 4947
HE (85,264) | 0.04 3,662.25 | 0.10 8,26793 | 0.14 11,930.18
C0f 5 A0f (5,872) | 0.04 253.38 | 0.04 21792 | 0.08 471.30
= GAF HESEA| Ol MEAH AN (9,516) | 0.02 144.07 | 0.02 19840 | 0.04 34247
ol=H =8 3 51 (757) | 0.02 13.67 | 0.03 21.08 | 0.05 34.75
Ho = M2 1R 8l 7 AHNY (23,110) | 0.01 34464 | 0.05 1,065.33 | 0.06 1,409.97
AAPERR| B ARIKIR] AH A (12,550) | 0.05 600.39 | 0.05 669.98 | 0.10 1,270.37
e A (73,738) | 0.01 997.39 | 0.05 3,383.74 | 0.06 4,381.14
Os AX Sl 07212 AHIA (3,456) | 0.06 205.29 | 0.06 19993 | 0.12 405.23
ofo| S Ch| 22| S 7[EH7H01 AH A (56,887) | 0.01 850.37 | 0.09 5,195.69 | 0.11 6,046.06
[B21-44] TEAR} 5 A8 2R FRQ0164 122 7|F)
(B : 71, B)
» " oy o L]
T MIT Tea em (@2 @A | ®2 @A
HH| (271,375) | 1.32 357,616.13 | 0.62 166,897.60 | 1.93 524,513.73
CHEX} =M (205,088) | 1.61 330,162.65 | 0.35 71,708.51 | 1.96 401,871.16
o d (0: 93] (66,287) | 041 2745348 | 144 95,189.09 | 1.85 122,642.58
A-|% (59,703) | 1.28 76,22801 | 0.77 46,091.60 | 2.05 122,319.61
| OI%/ 7| (66,556) | 1.38 91,568.63 | 0.60 39,973.11 | 1.98 131,541.74
A (126,259) | 1.33 167,796.65 | 0.68 86,004.71 | 201 253,861.36
Hod =X (25,452) | 1.09 27,818.82 | 048 12,096.35 | 1.57 39,915.18
S (27,091) | 119 32,357.13 | 044 11,831.32 | 1.63 4418845
At (81,726) | 143 117,195.03 | 0.61 49,561.66 | 2.04 166,756.69
Z/HIEA (10,847) | 115 12,448.50 | 0.68 7,34355 | 1.82 19,792.06
=2 o ol o (225) | 3.02 67854 | 0.98 22138 | 4.00 899.92
A (85,264) | 1.53 130,085.46 | 0.46 39,618.63 | 1.99 169,704.09
CE0f 5! A (5,872) | 1.05 6,142.61 | 0.67 391247 | 1.71 10,055.08
2T @A HESEA] O MEAH AN (9,516) | 1.62 15,41093 | 0.72 6,826.77 | 2.34 22,237.71
o{=td =28 9 561 (757) | 118 890.70 | 0.52 390.26 | 1.69 1,280.96
Ho = M2 1t El 7 AHY (23,110) | 143 33,011.92 | 0.59 13,609.18 | 2.02 46,621.10
ARAPRIR| S AR AH A (12,550) | 1.31 1641338 | 0.63 7,866.38 | 1.93 24,279.76
s AHPR (73,738) | 1.02 75,26198 | 1.13 83,269.23 | 2.15 158,531.21
O AX 4l O AHIAY (3/456) | 1.03 3,568.67 | 0.69 237382 | 172 5,942.49
o5| B | 42| B 7 EF KRl AR A (56,887) | 1.34 76,151.95 | 0.15 8,809.47 | 149 84,961.42
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oN
Elis

H 5%

J

[£21-45] TSARE 5 YM/YBIER FR(2016d 128 7|F)

(G I )

o5 X =
TS MAT Tz em (@2 8A @2 oA
HH (271,375) | 0.11 29,427.72 | 0.10 27,924.26 | 0.21 57,351.98
= (205,088) | 0.13 25,680.76 | 0.07 13,621.37 | 0.19 39,302.13
(0: 5] (66,287) | 0.06 3,746.95 | 0.22 14,302.89 | 0.27 18,049.85
NE (59,703) | 0.12 7,000.78 | 0.16 9,537.68 | 0.28 16,538.46
23 OIX/A7| (66,556) | 0.15 10,216.40 | 0.13 8,828.24 | 0.29 19,044.64
A (126,259) | 0.14 17,217.17 | 0.15 18,365.92 | 0.28 35,583.10
=N3A (25,452) | 0.09 2,240.33 | 0.05 137740 | 0.14 3,617.74
k== (27,091) | 0.08 2,17791 | 0.03 77319 | 0.11 2,951.10
gt (81,726) | 0.09 7,261.83 | 0.09 7,068.89 | 0.18 14,330.73
PN [ (10,847) | 0.05 53047 | 0.03 338.86 | 0.08 869.32
= 2 3l ofAd (225) | 045 100.24 | 042 9446 | 0.87 194.70
HE (85,264) | 0.10 8,363.50 | 0.05 388248 | 0.14 12,245.98
C0f 5 A0f (5,872) | 0.06 334.86 | 0.03 15593 | 0.08 490.79
= GAF HESEA| Ol MEAH AN (9,516) | 011 1,04949 | 0.03 299.89 | 0.14 1,349.38
ol=H =8 3 51 (757) | 0.05 3934 | 0.01 8.62 | 0.06 4795
Ho = M2 1R 8l 7 AHNY (23,110) | 0.07 1,529.09 | 0.04 1,027.57 | 0.11 2,556.66
AAPERR| B ARIKIR] AH A (12,550) | 0.25 3,117.27 | 0.21 2,651.27 | 046 5,768.54
e A (73,738) | 0.17 12,241.19 | 0.26 1892247 | 042 31,163.65
Os AX Sl 07212 AHIA (3,456) | 033 113317 | 0.19 64095 | 0.51 1,774.12
ofo| S Ch| 22| S 7[EH7H01 AH A (56,887) | 0.03 1,519.57 | 0.00 24063 | 0.03 1,760.20
HE146] 52 HHN12S
(Sl 1 74, %)
e =n .
i s | eoc |EVE | ms | PR BRES | g
71R) = 7R HR) = co =
HH (271,375) 64.8 7.8 221 15 3.7 0.1
M (205,088) 59.8 94 253 17 37 01
(0: 9] (66,287) 80.3 26 125 0.8 37 01
MNE (59,703) 544 11.0 26.5 26 52 03
23 OIX/A7| (66,556) 616 7.8 249 22 34 0.0
A (126,259) 58.2 93 257 24 472 01
=N3A (25,452) 73.7 46 189 0.6 21 01
k== (27,091) 743 5.8 173 0.7 19 0.1
At (81,726) 67.5 7.1 20.8 0.7 38 01
PN [ (10,847) 773 6.8 104 01 53 0.0
=¢ 2 3l ofd (225) 334 15.7 35.1 2.2 135 0.0
HE (85,264) 376 12.6 444 23 31 0.0
C0f 5 A0f (5,872) 774 3.8 148 0.7 33 0.0
=t GAF HESEA| O] MEAH AN (9,516) 29.7 89 434 7.8 10.1 01
ol=H =8 & 5 (757) 69.5 34 250 21 0.0 0.0
Ho = M2 1Rt 8l 7 AHNY (23,110 53.1 74 29.2 2.2 7.6 05
AZAPERRR| B ARIKIR] AH A (12,550) 62.0 6.3 227 14 6.5 1.0
=2 MR (73,738) 874 18 5.6 0.7 45 0.0
Os AX Sl 072124 AHIA (3,456) 75.5 27 153 13 52 0.0
ofo| S Ch| 22| S 7[EH7H01 AH A (56,887) 85.7 93 47 0.0 04 0.0
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2E1-47] F2 AHYH1+2&2)
(Tl 2 7H %)
AH = =
7z e | o s ris S |l | o
71R) = | IRIER) = oo =
| (271,375) | 711 20.9 29.8 28 5.7 03
CHEX} Lh (205,088) | 674 247 339 31 59 0.2
4 4o oA (66,287) | 825 9.2 17.0 16 54 05
M (59,703) | 639 251 387 45 89 08
23 olx/Z7| (66,556) | 67.7 237 325 39 46 00
A7 (126,259) | 659 244 354 42 6.6 04
o =X (25452) | 796 187 243 24 38 01
Su (27,001) | 787 164 218 12 39 01
oLt (81,726) | 722 181 27.2 15 54 03
bICT) B (10,847) | 8322 1738 16.0 05 74 00
=01 2lof Ol ofe (225 | 400 303 483 45 164 00
HEot (85264) | 469 311 53.6 49 49 0.2
LOf 5 A (5872) | 800 83 222 31 78 00
2T} QA HESEA| O HEAHASS (9516) | 355 174 59.0 105 17.2 01
- 28 gl 5 757) | 751 153 329 2.1 06 00
Ho= 2 1Sk gl 7 AHA (23110) | 60.5 143 396 31 124 05
ANSAPIaE| 9l ARKIQ) AHAS (12,550) | 703 175 404 38 118 13
S AHP (73,738) | 90.2 33 8.2 11 59 04
Ogs ATk Ol o2 AHIAY (3456) | 823 49 220 2.7 79 00
&45] 9l ChY| 22| 2 JEF 70N AHAY | (56,887) | 914 347 120 00 06 00
HE1-48] 2NN FE(1=9)
(SH - 7H %)
45|
| oy OELL | THY B | emy
2 A o oopg | x| oEy | EH | MR | 33 E.i. 78
O | oEg | M0 | 2 | R | W | M| g
59 gﬁ gy | 28
XA (271,375) | 757 | 75 | 83 | 46 | 16 | 02 | 00 | 06 | 06
CHEX} L (205,088) | 758 | 80 | 82 | 39 | 15 | 03 | 00 | 07 | 06
B oA (66,287) | 752 | 58 | 85 | 71 | 20 | 01 | 00 | 04 | 06
M (59,703) | 661 | 7.7 | 96 | 87 | 41 | 03 | 01 | 12 | 09
| OIX/Z7| (66,556) | 731 | 78 | 65 | 77 | 11 | 05 | 00 | 04 | 09
A7 (126,259) | 698 | 77 | 80 | 82 | 25 | 04 | 00 | 07 | 09
Hoi =5 (25452) | 792 | 84 | 86 | 17 | 07 | 00 | 00 | 07 | 05
SL (27,091) | 606 | 162 | 184 | 25 | 08 | 02 | 00 | 10 | 01
Lty (81,726) | 869 | 43 | 58 | 13 | 08 | 01 | 00 | 03 | 02
b1t e (10,847) | 888 | 46 | 44 | 09 | 02 | 01 | 00 | 06 | 03
=01 olod gl o (225) | 631 | 242 | 22 | 18 | 08 | 00 | 00 | 59 | 00
M= (85264) | 689 | 123 | 123 | 25 | 12 | 06 | 00 | 07 | 06
Of 51 A (5872) | 369 | 44 | 13 | 550 | 02 | 00 | 06 | 08 | 07
=} QAL HESEA| O M AH A (9516) | 666 | 123 | 72 | 64 | 35 | 00 | 00 | 24 | 09
o=my 28 U ES (757) | 807 | 103 | 23 | 21 | 15 | 00 | 00 | 00 | 15
Ho= 2 kGl 7 AHA (23110) | 734 | 82 | 85 | 25 | 34 | 04 | 00 | 15 | 15
ARSI D1 ARIR|S) AH A (12,550) | 663 | 70 | 191 | 12 | 33 | 00 | 00 | 15 | 08
IS AHPY (73,738) | 736 | 59 | 85 | 73 | 19 | 00 | 00 | 04 | 06
Os AZX Gl OP [ AHAY (3456) | 749 | 66 | 64 | 90 | 13 | 05 | 00 | 07 | 08
Sis| Ol Che| 42| 9! 7[EF 2ol MY | (56,887) | 970 | 17 | 07 | 03 | 04 | 00 | 00 | 00 | 00
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oN
Elis

H 5%

J

HE21.49] 2N AR1+2:9) (B2l 7H, %)

s OFf

976 | 23 | 290] 19 | 04 [ 00 | 00 | 00 | 12 | OO

oo | W | oy | B E

7z A | EH e | MR g0 | By | ey | 28 L g

o e | o1 | e om || B a

ue | g2 S | 2| ° 2 | 9%

)
HH| (271,375) | 787 | 91 | 263 | 74 27 04 0.0 0.9 19 13
LA (205,088) | 785 | 95 | 262 | 62 26 04 | 00 11 21 16
(0: 95 (66,287) | 794 | 79 | 265 | 108 | 27 02 01 05 12 03
N& (59,703) | 694 | 89 | 260 | 130 | 63 03 0.2 17 18 23
23 OIX/A7| (66,556) | 748 | 87 | 264 | 113 | 20 06 00 05 39 24
A (126,259) | 722 | 88 | 262 | 121 | 40 05 01 11 29 24
=N3A (25/452) | 815 | 104 | 368 | 24 13 03 0.0 09 21 01
S (27,091) | 734 | 199 | 494 | 29 15 05 00 15 05 03
At (81,726) | 832 | 62 | 170 | 35 16 0.2 00 04 09 04
Z/HI=A (10847) | 897 | 51 | 140 | 34 04 03 0.0 10 08 0.0
= 2 3l ofd (225) | 693 | 279 | 107 | 94 08 0.0 0.0 59 07 19
HEY (85,264) | 722 | 147 | 265 | 49 28 10 01 11 20 11
C0H 5 A0 (5872) | 418 | 49 43 | 683 | 36 0.0 06 10 15 0.0
=0} AL HESEA| Ol MEAHAA (9,516) | 687 | 153 | 155 | 125 | 57 00 00 28 29 09
ol=H =8 & 5 (757) | 823 | 11.8 | 93 21 21 00 00 00 31 15
Ho= M2 18l 7 AHY (23110) | 759 | 91 | 272 | 31 6.2 06 0.0 25 25 0.6
AR | B ARIKIR] AH A (12550) | 737 | 92 | 422 | 47 41 0.0 0.0 25 44 13
s AHP (73,738) | 777 | 75 | 244 | 106 | 25 0.0 00 04 17 28
Os AX Sl 0722 AHIA (3456) | 770 | 69 | 223 | 114 | 20 0.7 0.0 0.7 16 00
)

Sio| I Ci| 42| 3 7RI AHIAY | (56,887

$E81-50] 52 &8

2 s | omgmy | MESEN 1 oanex | HES
HA (271,375) 343 65.2 01 04
= (205,088) 371 62.5 01 04
oy (66,287) 259 735 01 05
Mg (59,703) 341 65.2 0.0 0.7
A OIF/Z47| (66,556) 36.7 629 01 03
2 (126,259) 355 64.0 01 05
o (25/452) 357 63.2 04 038
oA (27,091) 275 724 0.0 01
g (81,726) 358 63.8 01 03
PACTIOS B (10,847) 239 75.7 01 03
=2 228l oy (225) 730 259 0.0 11
N (85,264) 86.9 131 0.0 0.0
L0H 51 Apes (5872) 804 190 0.0 06
ST QAL HESEA] QI e AfH A0 (9,516) 303 68.2 10 05
SE =8 X 2y (757) 36 309 11 644
se= M2 1t 5l 7k AHIA (23,110 132 84.9 05 14
AR S ARRIKIR] AH A (12,550) 75 913 0.0 13
s AHR (73,738) 18 98.2 0.0 0.0
Oy AZCx O O R2iA AHIA (3/456) 134 854 0.0 12
ofo| S| 42| S 7RI AHINY | (56,887) 9.8 90.2 0.0 0.0
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2018 12!

Y27|Y AEIRA

HE1-51] U XATLH SHHE
(9] 74, 7)
= M | U EH | SoiH | ASMOR | 4dmd CixiokA RE
A (271,375) 0.53 2.26 1.70 2.08 2.51 6.44
CHEX} b (205,088) 0.53 2.22 175 248 2.68 6.88
4 4 o (66,287) 049 244 1.00 168 1.59 3.00
M2 (59,703) 045 194 1.88 132 - 6.67
| OIX/A7| (66,556) 0.59 2.38 140 217 3.36 -
A (126,259) 0.53 221 164 1.70 3.36 6.67
Ao =57 (25/452) 0.55 241 2.90 1.79 144 378
Stk (27,091) 043 212 - 1.00 - -
QILty (81,726) 0.54 240 1.19 343 152 723
PACTy e (10,847) 042 197 - 133 - -
=01 0011l Ofe] (225) 0.30 151 - - - -
A (85,264) 0.51 2.07 142 2.26 2.70 3.00
O 9 Ay (5872) 122 1.00 - 6.68 - 24.00
20} QA HESE] O MY (9,516) 0.63 3.00 400 2.00 - 1.00
- 29 0l 55t (757) 2.30 11.50 - - - -
He= H2 T 81 7 KHIAY (23,110) 0.74 370 2.06 1.00 2.00 6.00
NPIAPSRIZ] G AJRIRIG) AHIA! (12,550) 0.51 312 2.35 - 1.00 -
18 MY (73738) 0.27 144 - 1.00 - -
O AT Ol 0Pt AR (3/456) 124 3.00 - - 1.00 6.61
20| 3 B 2] H7EHILAHRY | (56.887) - - - - - -
[ E1-52] 3L X|ALH SEHE
(CHl 74 A
T Al | I S8 | SoiH | MR | MEA CIxioRA KA
A (271,375) 0.67 247 1.83 2.00 377 742
CHEX} LhA (205,088) 0.67 246 2.12 1.96 418 8.32
4 & o (66,287) 0.64 249 1.00 213 2.66 373
NS (59,703) 0.67 244 1.59 163 3.24 918
| OIX/A7| (66,556) 0.62 1.99 1.89 227 5.87 1.50
A (126,259) 0.64 214 176 1.95 5.18 773
Ao =57 (25452) 0.72 274 2.13 1.59 248 5.01
Stk (27,091) 0.69 274 2.55 2.10 3.00 1.00
QL (81,726) 0.67 3.00 175 2.00 1.87 10.14
PACT s E=] (10,847) 093 2.52 1.00 346 2.50 8.00
=01 0011l Ofe] (225) 1.20 475 9.76 1.00 - -
A (85,264) 0.65 2.28 204 207 3.89 494
O 9 Ayl (5872) 1.04 1.82 - 365 6.00 24.00
20} QA HESEA] O Ml (9,516) 0.79 217 1.00 2.22 3.08 7.52
ol 39 0] Lislo] (757) 1.40 5.50 3.00 - - -
He= H2 T 8 7 KHIAY (23,110) 0.80 391 1.85 1.93 1.00 -
NQISZE| 3 AJOIRIR) AHIAYY (12,550) 0.27 164 - 1.00 1.00 -
19 KHAY (73738) 0.51 2.55 1.00 1.00 - -
O AT Ol 0Pt AR (3/456) 121 2.00 - 1.00 213 646
25| 9 B 2] H7ERILAHRY | (56,887) - - - - - -




FE1-53] sie X|AMLH SRS

£ A | ofiel S | Ssfd | MSMoR | MEA CIxjoRM

| @71375) | 047 178 - 295 497

Lk (205,088) | 0.56 191 - 10.00 10.00

oM 66287) | 032 127 - 1.00 3.00
Me (59703) | 020 1.00 - - -
2~z OlX/A7| (66556) | 0.0 1.00 - 1.00 -
27 126259 | 0.0 1.00 - 1.00 -
=N (25452 | 040 2.00 - - -
Sek (27,091) | 020 1.00 - - -

Sed (81,726) |  0.56 2.77 - - 3.00

ZYRIZR 10847) | 400 . - 10.00 10.00
Y 221 ol ot (225) - . - - -

HEY @®5264) | 053 1.94 - 2.95 497
=R (5,872) - . - - _
T} G BEAEA| 01 KA 9516) | 020 1.00 - - -
o =plo (757) - - - - -
He= M2 D0l 7k AHAY (23,110) 040 2.00 - - -
MR 3 AR AHAY (12,550) - - - - -
U8 MHAY (73,738) - - - - -
O AZX 01 OppRt AHAY (3/456) - - - - -
30| B e 221 2 7KL MR | (56,887) - - - - -

[HE1-54] 82| X|ATjAH SEHY

£ AT o1l 55 | Ebfd | MeioR | MmA | ChRH

HH| (271,375) 0.50 271 1.00 112 244
M (205,088) 0.53 2.88 1.00 1.28 -

(0: 954 (66,287) 045 1.00 1.00 1.00 244
NE (59,703) - - - - -
3 QIF/Z7| (66,556) 0.20 - - 1.00 -
A (126,259 0.20 - - 1.00 -
=MA (25,452 - - - - -
S (27,091) 0.20 1.00 - - -

Lt (81,726) 048 2.33 1.00 1.00 3.00

PAC TS = (10,847) 113 5.50 1.00 1.50 1.00
01 0ot 9l ofl @5 | - - : . -

HEA (85,264) 0.50 271 1.00 112 244
Y 5 AT (5872 - - - - -
e N C1To I - . . :
ot 38 3l s 7 |- - . . :
=s= 2 610 712 AHAY) @10 | - - : - -
A pszE| AR RS | (12550) | - - . . -
2 Y @373y | - - . . -
Offs A% 2 Ol Y] 3456 | - - . . -
sl AT 22l 97K ERY | (56887) | - - : : :

20183 12 H27|Y AEHRAf



2018 191 27| AEHRAL

HE1-55 Ofst &3 off U RIETSH)
(5491 < 7H, %)
& N EERES g8 849
T Al YES NO VEEE] 7|E
XA (271,375) 0.6 994 98.1 19
CHEX} Lk (205,088) 07 993 97.6 24
4 & ojd (66,287) 05 995 100.0 00
NS (59,703) 06 994 96.9 31
23 olxy/Z7| (66,556) 07 993 100.0 00
Y| (126,259) 07 993 98.6 14
o =X (25,452) 08 99.2 89.3 10.7
SH (27,091) 14 98.6 100.0 00
Lk (81,726) 03 99.7 100.0 00
ZUHE (10,847) 0.7 993 100.0 00
=01 2lof gl ofe (225) 10 99,0 100.0 00
H= (85,264) 08 99.2 9.9 31
LOf 5 A (5,872) 00 100.0 0.0 00
=} oA HENEA| D1 HEAHAD] (9,516) 03 99.7 100.0 00
R 28 9 5 (757) 31 9.9 50.0 50.0
Ho= 2 Gl 7 AHA (23,110) 11 989 100.0 00
ANSARIRE| I ARKII AHIAS (12,550) 07 993 100.0 00
S AHPAS (73,738) 09 99.1 100.0 00
Oy ATk Ol o2 AHIAY (3,456) 00 100.0 0.0 00
&3] 91 CHY| 2] 9 7} 7j0l MRS | (56,887) 00 100.0 00 00

$21-56] HE/ZBI|B Y ofF U SYE4SY)
(- 7H %)

EECE EEEE]
= A A =
HH (271,375) 0.6 994 55.2 5.2 30.1 5.6 5.4
CHEX} =R (205,088) 0.7 99.3 58.7 57 250 6.1 44
4 & oM (66,287) 0.2 99.8 185 0.0 83.8 0.0 16.2
NE (59,703) 0.9 99.1 75.6 12.2 122 0.0 0.0
| I/ 7| (66,556) 0.5 99.5 309 0.0 40.7 120 164
2 (126,259) 0.7 99.3 58.3 75 23.2 46 6.4
HoiH =HA (25,452) 10 99.0 495 0.0 310 112 83
k=10 (27,091) 0.6 994 83.6 0.0 313 00 0.0
A=A (81,726) 0.2 99.8 29.0 8.6 624 0.0 0.0
Z/HIEA (10,847) 0.8 99.2 254 2.2 46.1 19.8 6.5
=2 AN B oY (225) 29 97.1 347 27.2 381 00 0.0
= (85,264) 0.5 99.5 526 00 318 35 175
L0 3 Aped (5,872) 0.3 99.7 0.0 64.4 35.6 0.0 0.0
2T @A HESEA] O MEAGH AN (9,516) 4.0 96.0 397 178 301 11.0 14
ol=H =8 U £ (757) 00 100.0 0.0 00 0.0 00 0.0
Ho= M2 1t gl 7 MHAY (23,110) 10 99.0 744 0.0 25.6 0.0 0.0
AAERR| B AR AH A (12,550) 13 98.7 0.0 0.0 8L7 183 0.0
oS AHP (73,738) 04 99.6 100.0 00 0.0 00 0.0
Ol AKX 51 O fatd AHAY! (3,456) 0.5 99.5 433 0.0 56.7 0.0 0.0
)

Sio| Bl Tl 42| 3L 7RI AHIAY | (56,887 0.0 100.0 0.0 0.0 0.0 0.0 0.0
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oN
Elis

H 5%

J

s AHRA (73,738 00 100.0 0.0 00 00 0.0 0.0

Ofs A Ol Op Rt AHA (3456 0.0 100.0 0.0 0.0 0.0 0.0 0.0

1-57] Lf7]9 o8 o % R (EFSHE)
(= 7H, %)
EEICES EEEE
= == &= I Al XE}
HA| (271,375) 01 99.9 44.5 26.1 19.5 9.8 26.1
=Y (205,088) 01 99.9 445 26.1 195 9.8 26.1
oy (66,287) 0.0 100.0 0.0 0.0 0.0 0.0 0.0
ME (59,703) 01 99.9 100.0 00 00 0.0 0.0
S+ OI%/ZA7| (66,556) 01 99.9 0.0 100.0 00 0.0 100.0
2 (126,259) 01 99.9 53.8 46.2 0.0 0.0 46.2
™A (25/452) 01 99.9 0.0 00 00 100.0 0.0
oA (27,091) 00 100.0 0.0 00 100.0 0.0 0.0
ALt (81,726) 01 99.9 435 0.0 56.5 0.0 0.0
PACT IS B (10,847) 0.0 100.0 0.0 0.0 0.0 00 0.0
=2 AP o (225) 11 98.9 0.0 00 100.0 0.0 0.0
K= (85,264) 0.2 99.8 35.8 30.8 217 116 30.8
L0y 51 A0 (5872 00 100.0 0.0 00 00 0.0 0.0
0} QA HESEA] O MEAH AN (9,516) 00 100.0 0.0 00 00 0.0 0.0
of=1 T8 A E (757) 0.0 100.0 0.0 0.0 0.0 0.0 0.0
=e= M2 et 8l Vi AHAA (23,110) 0.0 100.0 0.0 0.0 0.0 0.0 0.0
AlAPERR| 5] AIRIRI AHA (12,550) 03 99.7 100.0 00 00 0.0 0.0
)
)
)

&i5| QI EH| 22| A 7 7HRI AHIAY | (56,887 0.0 100.0 0.0 0.0 00 0.0 0.0

(21 - 74, %

AZAPERE] S ARIKIR] AHIA (12550) | 04 99.6 0.0 00 :1000: 00 00 0.0

= MR (73,738 0.2 99.8 | 1000 : 00 0.0 0.0 0.0 0.0

O ALK O O i AHIA (3,456 00 :1000 | 00 0.0 0.0 0.0 0.0 0.0

EEICE] EEEE
=] A A i (=13
HH| (271,375) | 04 996 | 409 11 321 : 156 : 104 38
= (205,088) | 04 996 | 404 14 39.0 101 135 0.6
oo (66,287) | 04 996 | 424 0.0 91 34.0 00 145
MNE (59,703) | 04 996 | 409 46 272 00 272 00
> I/ 7| (66,556) | 0.6 994 56.5 0.0 350 00 00 85
M (126,259) | 05 995 | 506 18 321 0.0 10.3 5.3
=54 (25452) | 02 99.8 0.0 00 :1000 : 00 0.0 0.0
SHA (27091 | 02 99.8 | 100.0 0.0 0.0 00 00 00
! (81,726) | 04 99.6 143 0.0 286 571 143 00
PAC VoS [E=r| (10847) | 00 {1000 | 00 0.0 0.0 0.0 00 i 100.0
S AU 2o (225 | 00 1000 | 00 0.0 0.0 0.0 0.0 0.0
HE (85264) | 05 99.5 30.0 0.0 304 i 396 9.9 00
L0f 5L A (5872) | 06 994 0.0 0.0 0.0 0.0 00 : 1000
=t GAF HESEA| O] MEAH AN (9516) | 19 98.1 0.0 0.0 60.1 00 371 2.8
ol=H =5 5l =Y (757) | 15 98.5 0.0 100.0 0.0 00 00 00
Ho= M2 st Bl 7= AHAR (231100 | 08 992 | 718 0.0 282 0.0 0.0 0.0
)
)
)
)

o) W Tl 2| S 7RI AHIAY | (56,887) | 00 1000 | 00 0.0 0.0 0.0 0.0 0.0
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FE1-59] F27|Y € o A REE+SHE)

(B 2 71, %)
e CEEE
= A A i Al XECF
= R lw w2232 B1OEEE
HH| (271,375) 1.8 98.2 32.7 1.9 413 30.0 4.0
CHEX} =M (205,088) 21 979 343 21 40.2 294 45
Had (0: 5] (66,287) 0.7 993 183 0.0 50.8 35.5 0.0
A-|% (59,703) 20 98.0 36.8 74 229 33.8 1.0
| OI%/ZA7| (66,556) 2.6 974 415 0.0 33.2 299 3.3
A (126,259) 23 97.7 39.6 3.0 29.0 315 24
Aol =X (25,452) 19 98.1 233 0.0 70.5 13.8 10.8
S (27,091) 0.3 99.7 32.3 0.0 67.7 0.0 0.0
At (81,726) 14 98.6 19.0 0.0 58.1 36.5 48
Z/HIE=A (10,847) 1.2 98.8 299 0.0 52.2 17.9 12.1
=9 et 5l o (225) 23 97.7 0.0 0.0 100.0 0.0 0.0
HEY (85,264) 41 959 30.0 0.0 38.8 394 39
CE0f S A (5,872) 0.7 99.3 0.0 0.0 81.8 18.2 0.0
25T @A HESEA] O MEAH AN (9,516) 5.0 95.0 482 0.0 53.5 0.0 2.7
o1z 38 ol wel 757 | 31 | %9 | 00 | 1000 | 500 | 00 | 500
Ho = M2 gl 7 AHY (23,110) 15 98.5 60.5 0.0 29.0 10.5 0.0
ARAPRIR| B AIRKIR] AH A (12,550) 2.2 978 18.2 234 47.8 0.0 10.6
s AHP (73,738) 0.0 100.0 0.0 0.0 0.0 0.0 0.0
O AX 4l O AHIAY (3,456) 19 98.1 115 0.0 88.5 0.0 0.0
o5| B B 42| B 7 EF KRl AR (56,887) 0.0 100.0 0.0 0.0 0.0 0.0 0.0
HE1-60] Ef(fth) 191 Hx7|H UM HH o U FHE+SH)
(&l 7Y, %
R CEIEE
T MR s NO | 712 ®9 | muj @3 | MK 8d
HH (271,375) 0.3 99.7 25.0 60.5 218
CHEX} M (205,088) 0.3 99.7 212 613 26.3
o4 oo (66,287) 0.2 99.8 434 56.6 0.0
MNE (59,703) 0.1 999 66.7 333 0.0
| OI%/ 7| (66,556) 04 99.6 487 513 243
A (126,259) 0.3 99.7 53.5 465 17.7
Hoid =X (25,452) 0.2 99.8 50.0 50.0 0.0
k== (27,091) 0.1 999 0.0 100.0 0.0
At (81,726) 04 99.6 0.0 75.0 25.0
PAC VoS [Er| (10,847) 0.6 994 0.0 50.0 50.0
=9 et 5l o (225) 0.0 100.0 0.0 0.0 0.0
MR (85,264) 0.7 993 239 56.3 29.8
EE0f S A (5,872) 0.0 100.0 0.0 0.0 0.0
=t GAF HESEA| Ol MEAH AN (9,516) 0.2 99.8 0.0 100.0 0.0
ol=H =28 4 56 (757) 0.0 100.0 0.0 0.0 0.0
Ho = M2 1Rt Al 7 AHINY (23,110 0.0 100.0 0.0 0.0 0.0
ARAPRIR| B AIRKIR] AH A (12,550) 0.8 99.2 0.0 100.0 0.0
=2 MR (73,738) 0.0 100.0 0.0 0.0 0.0
O AX 5l O 2 AHIAY (3,456) 2.6 974 66.7 333 0.0
i) Ol Tl 42| 9 7} 7HR! AH (56,887) 0.0 100.0 0.0 0.0 0.0

188 | =



oN
4z

H 5%

J

1-61] =7\ HHAUM HH o U FI(EFSH)
(B2 - 7H %)
CFERGES 24 78
2 Al 2 = o g
| (71375) | 0.1 99.9 62.8 227 145 22.7
Lk (205,088) 0.0 100.0 0.0 831 169 83.1
ol (66,287) 02 99.8 864 00 136 00
NS (59,703) 02 99.8 100.0 00 00 00
B olxl/z7| (66,556) 0.0 100.0 0.0 00 0.0 00
A (126,259) 0.1 99.9 100.0 00 0.0 00
=X7 (25/452) 0.0 100.0 0.0 00 100.0 00
sS4 (27,091) 0.0 100.0 0.0 00 00 00
Sty (81,726) 0.0 100.0 0.0 100.0 0.0 100.0
2R3 (10,847) 0.1 99.9 0.0 00 100.0 00
=01 0lof gl ofed (225) 0.0 100.0 0.0 00 00 00
HES (85,264) 0.0 100.0 0.0 00 100.0 0.0
[= M=o (5872) 0.0 100.0 0.0 00 00 00
0} Qb HESEA] O REAHIAQ (9,516) 0.1 99.9 0.0 00 100.0 00
o= 28 Ul e (757) 0.0 100.0 00 00 0.0 00
Be= 2 Jst 8l 7 AHAY (23110) 06 994 735 26,5 0.0 26.5
ARIAPRIE| Bl ARIKIRI AHASS (12,550) 0.0 100.0 0.0 00 00 00
S AHRS! (73739) 0.0 100.0 0.0 00 00 00
O ATX Ol Op |22 AHAY (3/456) 0.0 100.0 0.0 00 0.0 00
&35 0l Thy| 22| 2 7 il MHPRS | (56,887) 0.0 100.0 0.0 00 0.0 00
H2E21-62] 7|Et @3 oF U f¥ETSH)
(B2 2 71 %)
” A gy of EEEX:
T At YES NO L 7|E}
A (271,375) 0.0 100.0 118 88.2
Lk (205,088) 00 100.0 11.8 882
ol (66,287) 0.0 100.0 0.0 00
Me (59,703) 0.0 100.0 00 00
2~z oIx/A7| (66,556) 01 99.9 0.0 100.0
22 (126,259) 0.0 100.0 0.0 100.0
=X (25/452) 0.0 100.0 100.0 00
sS4 (27,091) 00 100.0 0.0 00
oLty (81,726) 00 100.0 0.0 00
2UHEA (10,847) 00 100.0 0.0 00
=01 0o 5l o (225) 0.0 100.0 0.0 00
Hx (85,264) 01 99.9 0.0 100.0
Z0j 31 A (5,872) 0.0 100.0 00 00
25T} QA HESEA| O AEAHAY (9,516) 0.0 100.0 00 00
o 28 gl £ (757) 00 100.0 0.0 00
He= 2 1BH Ol 7K AHPAY (23,110) 0.0 100.0 00 00
ARIAPIRIE| B AR AHA! (12,550) 0.0 100.0 0.0 00
S AHAY (73739) 0.0 100.0 00 00
O ATX Ol OP Rl AR (3,456) 02 99.8 100.0 00
S| 0l Ty 22| 9l JEF7j0l AHRY | (56,887) 0.0 100.0 0.0 00
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[£E1-63] &% 7|%U2Y A=
(S22 71, %)
= Abefl ol |X (MR EE | ¥E 4 H Y
A (271,375) 923 46 04 27
CHEX} LH (205,088) 91.8 48 04 29
4 4 o (66,287) 939 39 0.2 19
M2 (59,703) 91.6 45 05 35
| OIX/ 7| (66,556) 89.3 76 00 31
Y| (126,259) 904 6.1 0.2 33
Aol =53 (25,452) 90.0 6.6 05 29
SLY (27,091) 94.8 16 0.2 34
o (81,726) 94.8 31 05 16
PACTys B (10,847) 951 16 1.0 2.2
w01 olot Ol ofod (225) 9.4 56 00 00
R (85,264) 89.3 71 06 29
0K S0 A0pe! (5,872) 90.1 47 03 49
=} Qb HENEA| O MEMHAO] (9,516) 883 87 03 27
- 28 9l 5 (757) 926 37 06 31
Ho= M 15t gl 7 AHAY (23,110) 917 44 0.2 37
ARSI D1 ARIK|S) AH A (12,550) 92.2 5.1 07 20
S AHA (73,738) 94,5 33 03 19
Os A Gl P 2l AHAY (3,456) 921 34 1.0 35
oo 5L BN 2 W 7EFIRIAHAN | (56,887) 95.2 19 01 28
[£21-64] §F AZY AYEHEY OILH)
(S22 71, %)
= Abefl At aict
A (12,550) 63.5 36.5
CHEX} A (9,939) 66.0 340
4 4 ojAd (2,611) 54.2 458
NS (2,686) 62.2 378
| OIF/Z7| (5,046) 67.1 329
A (7,732) 654 346
o =57 (1,675) 544 456
S (423) 65.3 347
Lty (2,544) 65.8 34.2
PICT S B (175) 306 694
=3 22 2l o (13) 80.2 198
R (6,094) 59.5 405
LOf 5 A (274) 53.7 463
S Apt HESEM Ol HEAH A (832 76.0 240
T 38 O k! (28) 844 156
2 SOl 7 AHAY (1,019) 514 486
AJSIAPETIR| D1 AJRIK|S) AHAS (639) 744 256
S AHPAS (2,464) 67.1 329
ol 3 EI| 2 T EHHRI AHA (119 750 25.0




A5y 22
[£21-65] QS 72
(e e )
= o £ ¥ga=x | gN/uszER
= T @z #M  |®z eA |®=z @
HH (271,375) | 2.32 18483.04 | 214 17,029.21 | 0.18 1,453.83
= (205,088) | 2.37 15,553.27 | 218 1428514 | 0.19 1,268.12
oo (66,287) | 2.07 292977 | 194 2,74407 | 013 185.70
M2 (59,703) | 2.34 390091 | 216 3,60240 | 0.18 29851
e OIX/A7| (66,556) | 1.98 6,71499 | 192 6,496.74 | 0.06 218.25
M (126,259) | 2.10 1061591 | 2.00 10,099.15 | 0.10 516.76
=53 (25452) | 212 193504 | 207 1,888.79 | 0.05 46.25
oHH (27,091) | 3.22 890.23 | 2.70 747.19 | 0.52 143.03
Yt (81,726) | 2.88 4,826.65 | 245 4,095.02 | 044 731.63
PAC VoS (B (10,847) | 4.01 21522 | 371 199.07 | 0.30 16.15
9 A 2 o (225) | 1.75 1785 | 101 1030 | 0.74 7.55
HE (85,264) | 2.17 7,858.77 | 2.06 7484.56 | 0.10 374.21
L0 5 AR (5872) | 148 217.65 | 148 217.65 | 0.00 0.00
= GAF HESEA| Ol MEAH AN (9,516) | 211 1,335.08 | 1.95 123479 | 0.16 100.30
ol=H =25 3 =519 (757) | 2.50 58.38 | 1.00 2335 | 150 35.03
Ho= M2 1ot Bl 7k AHIA (23,110) | 3.03 1,583.70 | 3.03 1,583.70 | 0.00 0.00
AAPERR| B ARIKIR] AH A (12,550) | 2.17 103277 | 155 735.36 | 0.63 29741
e A (73,738) | 2.74 453295 | 237 392478 | 0.37 608.18
O AKX 51 O ffed AHA (3456) | 1.99 17755 | 164 146.39 | 035 3116
o] 3 T 2] 3 7EH7H1 AR (56,887) | 2.10 1668.33 | 2.10 1,668.33 | 0.00 0.00
$21-66] HY/UFHE D3 0/123)
(291 < 71, %)
" Llaom | omuy | @y | BP | es | Ad | e
TE WAT o | md | #m | JE | FE | ag | ™
B [earnfo]
HH| (8258 | 504 16.9 23.6 0.9 0.8 7.2 0.2
=r 6,824) 516 156 24.8 10 10 58 0.2
o 1434) | 449 231 18.2 0.0 0.0 13.8 0.0

+rH /A7 2,058) | 429 16.5 353 0.0 0.0 53 0.0

(
(
M (2336) | 58.1 4.2 261 0.0 29 87 0.0
(
(

2 4394) | 510 99 304 00 15 71 0.0

=54 (861) | 60.0 110 84 27 0.0 17.9 0.0
oA (976) | 477 329 10.0 0.0 0.0 85 0.8
e (1674) | 424 296 23.6 19 0.0 25 0.0
AT s e (353) | 658 13.7 13.7 46 0.0 0.0 22
A= (3002) | 314 212 321 0.5 23 125 0.0
L0 5 AR (310) | 552 28.7 135 0.0 00 0.0 25

T4 A HESEA] B eAH A (284) | 391 29.3 75 0.0 00 241 0.0

(154
Ol
ngE

=28 U £ (28) | 849 151 0.0 0.0 0.0 0.0 0.0

M2 1t Bl 7k A (901) | 777 99 41 2.6 0.0 5.7 0.0
AL | S ARIKIR] AH A (338) | 64.0 173 94 94 00 0.0 0.0
=2 AHPA (1,588) | 76.2 0.0 238 00 00 0.0 0.0

O AX O O[22 AHIA (154) | 70.7 19.2 0.0 0.0 0.0 51 51
Sio| Bl Ci| 42| 3 7EHHR AHIAY | (1,653) | 413 24.6 28.8 0.0 0.0 5.3 0.0
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F51-67] H Y/

(114
opi

He 18 ojg(1+2=4)

AO0IM ]| A7) K O ;Eg_:

72 M | it | Em | 2g | N | 3z | 45 | 7

o= mg
HH| (8.258) 71.0 49.0 384 20 28 15.0 1.0
CHEX} = (6,824) 74.9 453 39.7 21 2.8 118 12
4 g o1 (1434 | 525 66.8 323 14 26 304 0.0
MNE (2,336) 68.0 31.2 348 0.0 74 36.6 0.0
| 1M/ (2,058) 73.7 439 473 36 2.8 53 0.0
A (4,394) 70.7 37.2 40.7 17 52 219 0.0
HoH =53 (861) 70.9 46.3 321 2.7 00 179 27
S (976) 93.2 63.1 185 0.0 0.0 85 0.8
At (1,674) 60.0 73.7 420 32 0.0 2.5 2.5
J/HEA (353) 65.8 47.0 64.5 4.6 00 0.0 22
HE (3,002 50.8 45.0 522 25 6.5 171 14
L0 3 Aped (310 573 817 441 0.0 118 0.0 25
b AL HESEA| Ol M AHPAA (284) 594 75.5 101 45 00 24.1 0.0
=5 ¥ £ (28) | 100.0 422 27.1 30.7 0.0 0.0 0.0
Pa b M2 1t al 7 AHNY (901) 87.6 35.3 10.8 26 0.0 399 2.6
ARAERE| Sl ARIKIR] M (338) 813 739 16.7 94 00 0.0 0.0
s AHPRA (1,588) 87.2 423 50.7 00 00 0.0 0.0
Ol AXX G O Rt AHAYY (154) 89.9 73.0 00 10.3 0.0 51 51
5| A Bl 42| L 7EHRI AHRY | (1,653) 83.3 52.3 28.8 0.0 0.0 17.8 0.0

[FE1-68] HA/HSTe 1 0|F(1+2+3=9)
(EK2) 2 74, %)

3 Wt | A%

=] A -’.‘-Q.Vg' ‘l_";l'uH %’7| o 1?'% % L
HH| (8258) | 77.8 52.5 46.8 25 3.0 04 187 10
CHEX} = (6,824) | 810 495 481 2.8 32 0.0 136 12
4 8 oM (1,434) | 627 66.8 40.6 14 2.6 21 429 0.0
N& (2336) | 73.8 370 377 0.0 74 00 36.6 0.0
| I/ | (2058) | 828 467 62.9 36 39 0.0 53 0.0
2 (439%) | 781 416 495 17 5.7 0.0 219 0.0
Hod =53 (861) | 76.8 515 40.7 2.7 0.0 34 179 27
S (976) | 95.8 68.3 316 0.0 0.0 0.0 30.7 0.8
A (1,674) | 69.6 73.7 482 56 0.0 0.0 74 2.5
Z/HEA (353) | 65.8 47.0 64.5 46 0.0 0.0 0.0 2.2
A (3,002) | 617 546 61.5 38 6.5 00 215 14
LE0f Sl AN (310) | 59.5 817 66.0 00 118 00 00 25
b AL HESEA| Ol M HAA (284) | 594 75.5 22.6 45 7.5 0.0 24.1 0.0
=25 3 5519 (28) | 1000 | 422 54.2 30.7 0.0 0.0 00 0.0
Pa ) M2 18l 7 MHY 901) | 91.7 353 150 26 0.0 0.0 43.0 2.6
AP | Sl ARIKIRI A AR (338) | 813 73.9 254 94 0.0 8.7 0.0 0.0
s AHPRA (1,588) | 87.2 423 50.7 00 0.0 0.0 8.7 0.0
Ols AmX B O/ Riizd A (154) | 89.9 73.0 29.5 103 0.0 0.0 51 51
| U Bl 42| L 7EHRI A | (1,653) | 947 523 40.2 0.0 0.0 0.0 17.8 0.0
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H 5%

$21-69] 7|UAZ HS ¥ AY BHES3Y)

& 29 M= | A A=
o o |y | wuw | sy | S5 | W) OHE DO
=]

9 | D | N | B

A (271,375 | 3.0 0.8 03 0.2 0.5 0.2 0.6 96.3

J

18
oK
nE

AZA R B ARIKIR] AH A (12,550) | 05 05 05 0.0 0.7 00 0.0 99.1

1 AHRA (73,738 20 0.7 0.0 0.0 09 0.0 0.2 97.7

O AX Ol O 2 AHIA (3,456 0.9 0.2 0.0 0.0 0.2 0.2 0.0 99.1

EHA (205,088) | 3.1 09 03 0.2 0.6 0.2 0.8 96.0
oy (66,287) | 24 0.2 01 0.0 0.2 0.0 01 974
Mg (59,703) | 3.0 03 01 01 0.2 0.2 09 96.2
S+ /A7 (66,556) | 44 14 04 04 09 0.2 03 94.9
2 (126,259) | 3.8 0.9 03 0.2 0.6 0.2 0.6 955
™A (25452) | 3.7 14 0.5 03 06 03 05 95.3
oHA (27,091) | 3.6 11 0.3 0.0 17 0.2 13 95.9
e (81,726) | 16 03 0.2 01 01 01 0.5 97.8
A B (10,847) | 12 0.5 01 0.0 0.0 03 0.2 979
S 242 oA (225) | 12 0.7 0.0 0.0 0.0 0.0 0.0 98.0
=R (85264) | 43 13 0.5 03 05 04 12 94.3
L0 5 AOKRS (5872 | 23 0.0 0.0 0.0 0.0 0.0 0.2 97.7
2T @A HENEA] O MEAH AN (9516) | 10.8 2.2 0.2 0.0 11 0.8 17 875
=28 U #5Y (757) | 46 31 0.0 0.0 0.0 0.0 0.0 954
M2 1t Bl 7k A (23110) | 6.0 0.6 0.0 0.2 038 0.0 11 931
)
)
)
)

&i5| Ol EH| 22| A 7EF W0 AHIAY | (56,887) | 04 0.0 03 03 0.0 0.0 00 | 993

[££1-70] 1014 o|Lf R 7|& EoKEF2H)

a2z M4 | D | o | N | § | g | g ‘88 S

oFt

A @71375) | 15 | 13 | 01 | 07 | 01 | 05 | 15 | 10 | 19 | 921

o (205088) | 15 | 14 | 02 | 08 | 01 | 06 | 20 | 13 | 19 | 911

ol (66287 | 14 | 08 | 00 | 05 | 00 | 01 | 02 | 04 | 21 |49

R N (59703) | 18 | 11 | 00 | 06 | 00 | 03 | 17 | 09 | 35 | 907
7 OIRY/2] (66556) | 15 | 22 | 01 | 07 |01 |05 | 18 | 18 | 35 | 885
= 27 (126259 | 16 | 17 |01 | 06 | 00 | 04 | 17 | 14 | 35 | 895
S5 (25452) | 07 | 11 [ 04 [ 11 |02 |08 | 19 | 11 | 03 | 936

97 7091 | 18 | 20 [ 02 | 15 |01 [ 09 | 31| 03 | 07 | 906

i 81726 | 13 | 04 | 02 | 05 | 00 |02 | 07 | 07 | 05 | 98

2R (10847 | 23 | 15 |00 |04 |01 |03 |07 |12 13 |94
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